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Objective Question
801 801
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PREVIEW QUESTION BANK

Question Body and Alternatives

Which of the following is the Lower Palaeolithic stone tool ?

(1) Blade

(2) Handaxe
(3) Cleaver
(4) Microlith

Al:1

A3:3
Ad:4

Objective Question
802 [/802
Blade tools are found in :

(1) Lower Palaeolithic period
(2) Middle Palaeolithic period
(3)  Upper Palaeolithic period
(4) Neolithic period

Al:1

A2:2

A3:3

Ad:4

Objective Question

i Put the following chronology, from recent to oldest :
(A) Archaeozoic
(B) Cenozoic
(C) Palaeozoic
(D) Mesozoic
(E) Proterozoic
Choose the correct answer from the options given below :
(1) (B, (D), (O, (B), (A)
(2) (A, (B), (©), (D), (E)
(3) (A (E), ©. D) (B)
4) (A), (O, (B), (D), (E)
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Al:l
A2:2
A3:3
Ad: 4

Objective Question

804 804 4.0 1.00
Which of the following is true for Celts ?

(A) These were Neolithic tools

(B) Were manufactured by Cro-magnon

(O Grinding and polishing technique was used

(D) Are found only in Africa

Choose the correct answer from the options given below :
(1) (A), (C) and (D) only

(2) (A) and (C) only

(3) (B) and (D) only

(4)  (A), (B) and (D) only

Al:l
A2:2
A3:3
Ad:4

Objective Question
805 |/805 4.0 1.00
Domestication of plants and animals is a characteristic feature of which of the following periods ?

(1) Upper Palaeolithic
(2) Neolithic

(3) Mesolithic

(4) Middle Palaeolithic
Al:1

A2:2

A3:3

A4 :4

Objective Question
806 806 4.0 |1.00
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Which of the following are characteristics of Primitive Economy ?

(A) Small economy

(B) Simple technology

(C) Geographical isolation

(D) Simple markets

Choose the correct answer from the options given below :
(1) (A), (B) and (C) only

(2) (B) and (D) only

(3) (A) and (B) only

(4) (A) and (D) only

Al:1
A2:2
A3:3

A4 :4

Objective Question

807 807

In a simple economy, which of the following subsistence strategies are commonly employed ?
(A) Foraging

(B) Industrial Agriculture

(C) Pastoralism

(D) Terrace farming

(E) Hunting

Choose the correct answer from the options given below :
(1)  (A) (O), (D) and (E) only

(2)  (A), (B), (C), (D) and (E)

(3)  (A), (B), (C) and (D) only

4) (A), (B), (D) and (E) only

Al:1
A2:2
A3:3

Ad:4

Objective Question

808 808
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Arrange the following sequentially in the Human existence :

(A) Man

(B) Family
(©) Marriage
(D) Society

Choose the correct answer from the options given below :

1 (&) D) (B), ©)
2 (&), ®),(©), D

(3) (A (©), (B), (D;
#) B, (D), ©) A
Al:l
A2:2
A3:3

Ad:4

Objective Question
809 809 4.0 |1.00
Smallest unit of society is :

(1) Family
(2) Tribe
(3) Caste
(4) Clan

Al:1
A2:2
A3:3
A4:4

Objective Question
810 810 4.0 1.00
In a family, Father’s Sister’s children are :

) Parallel cousins
) Third cousins

(3) Second cousins
)

Cross cousins

A2:2
A3:3

A4:4
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Objective Question
811 | 811 4.0 1.00

When several sibs or clans combine to form a wider grouping, itis a :
(1) Phratry

(2) Caste

(3) Gotra

(4) Moeity

Al:1
A2:2
A3:3
A4 4

Objective Question

812 |[812 . : ) 4.0 |[1.00
Essentials functions of a family are :

(A) Regulating sexual reproduction

(B) Participation in religious activities

(C) Providing education to the children

(D) Participation in political activities

(E) Upbringing of children and emotional support
Choose the correct answer from the options given below :
(1) (A) and (B) only

(2) (A) and (C) only

(3) (A) and (D) only

(4) (A) and (E) only

Al:1
A2:2
A3:3
A4:4

Objective Question
813 813 4.0 1.00

In the Manipur state ethnic conflicts recently happened between :

(1) Kuki and Meitei
(2) Kuki and Lepcha
(3) Meitei and Bhutia
(4) Naga and Bodo
Al:1

A2:2

A3:3

file:///D:/INCET QP/ZIP/4_Live_NCET_GUJ/4_Live_NCET_GUJ_801-1200.html 5/163



7/10/24, 7:45 PM 4_Live_NCET_GUJ_801-1200.html
A4:4

Objective Question
814 814 4.0 |1.00
Social scientist who studied Apatani tribe :

(1) C.F. Von Haimendorf
(2) BM. Das

(3) B.S. Guha

(4) S.5. Sarkar

Al:1
A2:2
A3:3
A4:4

Objective Question
815 815 4.0 1.00

Which state of North East India is the home to the Apatanis ?
(1) Meghalaya

(2) Arunachal Pradesh

(3) Tripura

(4) Mizoram

Al:1

A2:2

A3:3

Ad:4

Objective Question
816 816 4.0 1.00
The Seng Khasi Movement took place in which state of North East India ?

(1) Tripura

(2) Mizoram

(3) Arunachal Pradesh
(4) Meghalaya

Al:1

A2:2

A3:3

Ad:4

Objective Question
817 817 4.0 1.00
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Man is :

(1
(2)
()
(4)
Al:1
A2:2
A3:3

Ad:4

Objective Question
818 818

Example for Herbivorous animal is :

(1
(2)
3)
(4)
Al:l
A2:2
A3:3

Ad:4

Objective Question
819 819

A distinctive way of life of an organism acquired by the interaction of both biotic and abiotic

Herbivorous
Carnivorous
Omnivorous

Detrivorous

Man
Cow
Lion

Earthworm

4_Live_NCET_GUJ_801-1200.html

elements of the organism’s environment is known as :

()
()
3)
(4)
Al:l
A2:2
A3:3

Ad:4

Objective Question
820 820

Econiche
Ecosystem
Biome

Biosphere
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Match List - I with List - IL.

List - I List - II

Concept / Movements Person
(A) Ecology ()  Sundarlal Bahuguna
(B) Cultural Ecology (II) Harold Conklin
(C) Chipko Movement (III) Julian Steward

(D) Ethno-ecology (IV) Ernst Haeckel

Choose the correct answer from the options given below :
(1) (A)-IV), (B)-(IL), (O)~(D), (D)D)
(2)  (A)-(D), (B)-(IT), (C)-(1I), (D)-(IV)

)
(3)  (A)-(1D), (B)-(V), (O)-(1), (D)-(II)
(4) (A, (B)-(1), (O)-(11), (D)-(V)

Al:1
A2:2
A3:3

Ad:4

Objective Question

821 821

Which of the following are false fruits ?
(A) Strawberry

(B) Maize

(C) Apple

(D) Groundnut

(E) Cashew

Choose the correct answer from the options given below :
(1) (A)and (C) Only

(2) (B) and (D) Only

(3) (O, (D) and (E) Only

(4) (A), (C) and (E) Only

Al:1
A2:2
A3:3

Ad:4

Objective Question

822 822
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Arrange the steps of artificial hybridisation in the correct sequence of their occurrence.

(A) Bagging

(B) Dusting the desired pollen grains on the stigma

(C) Stigma attaining receptivity

(D) Emasculation

(E) Rebagging

Choose the correct answer from the options given below :
M) (A), (), ) B) ©)

2 (B), (O (A), (D), (B)

3 D) (A), (©), (B), (E)

(4) (A) (©), (B), (B), (D)

Al:1
A2:2
A3:3

Ad:4

Objective Question

823 823

During gametogenesis in males, transformation of spermatids into spermatozoa is called ‘X" and
the process of release of sperms from seminiferous tubules is called as “Y".

Identify ‘X’ and "Y".

X Y

(1) |Spermatogenesis| Spermiation
(2) | Spermiogenesis | Spermatogenesis
(3) | Spermiogenesis | Spermiation
(4) Spermiation | Spermiogenesis

Al:1

A2:2

A3:3

Ad:4

Objective Question

824 | 824

Which one of the [ollowi_ng is not a function of placenta during pregnancy ?

(1) To facilitate the supply of oxygen to the embryo

(2) To produce hPL and relaxin

(3) To remove carbon dioxide and waste produced by the embryo
(4) Facilitating the supply of nutrition to the developing embryo
Al:1

A2:2

A3:3
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A4 :4

Objective Question

825 825 4.0 |1.00
Which of the following sexually transmitted infection is not completely curable ?

(1) Syphilis

(2) Gonorrhoea

(3) Genital Herpes
(4) Trichomoeniasis

Al:l
A2:2
A3:3
Ad:4

Objective Question
826 826 4.0 1.00
Given below are two statements :

Statement (I) : Amniocentesis is legally banned to check female foeticides in India.

Statement (II) : The only purpose of MTP is to significantly decrease the population growth.

In the light of the above statements, choose the most apmeriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct

Al:1
A2:2
A3:3
A4:4

Objective Question
827 1827 4.0 [/1.00
Given below are two statements :

Statement (I) : Biofertilizers are organisms like bacteria, fungi and cya_lmbacleria that enrich the
nutrient quality of the soil.

Statement (II) : The Azospirillum enriches the nitrogen content of the soil.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct

Al:1
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A2:2
A3:3
Ad:4

Objective Question
828 828 4.0 |1.00
If a person shows mutation in HBB gene on chromosome number 11, which affects Globin chain

synthesis, he is suffering from :
(1) Sickle cell anaemia

(2) o Thalassaemia

(3) B Thalassemia

(4) Haemophilia

Al:1
A2:2
A3:3
A4:4

Objective Question
829 1829 4.0 1.00
How many true breeding pea plant were selected by Mendel for his hybridisation experiments ?

(1 7
@) 14
@B) 8
) 15

Al:l
A2:2
A3:3
Ad:4

Objective Question

830 830 4.0 1.00
Scientists took a blind approach of sequencing the whole set of genome and later assigned different

regions in the sequence with functions. This method is called
(1) Karyolyping

(2) Gene mapping

(3) EST's

(4) Sequence Annotation

Al:1
A2:2

A3:3
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A4 :4

Objective Question
831 831 4.0 1.00
After growing E. Coli in 15NH4C1 as the only nitrogen source for many generations.

The cells were transferred in a medium with 1‘1NH4CI. The cells were allowed to grow and divide.
What would be the proportion of light and hybrid DNA molecules after 2 hours.

(1) 32 light 32 hybrid

(2) 30 light 34 hybrid

(3) 63 light 1 hybrid

(4) 62 light 2 hybrid

Al:l
A2:2
A3:3
Ad:4

Objective Question
832 832 4.0 [1.00
In Human Genome Project (HGP), for cloning of DNA the commonly used hosts were :

(A) Bacteria

(B) Viruses
(C) Yeast
(D) Fungi

Choose the correct answer from the options given below :
(1) (A) and (C) Only
(2) (A) and (D) Only
(3) (B) and (D) Only
(4) (C) and (D) Only

Al:1
A2:2
A3:3
A4 :4

Objective Question
833 833 4.0 1.00
Identify the incorrect statement regarding Homology.

(1) Homologous organs indicate common ancesiry

(2) Cheetah and human share similarities in the pattern of bones of forelimbs

(3) Vertebrate brains show homology

(4) Organisms with homologous organs adapt to perform similar function in a habitat

Al:1
A2:2

file:///D:/INCET QP/ZIP/4_Live_NCET_GUJ/4_Live_NCET_GUJ_801-1200.html 12/163



7/10/24, 7:45 PM

4_Live_NCET_GUJ_801-1200.html

A3:3

A4:4

Objective Question

834 834

Match List -~ I with List - I1.
List - I
Phenomenon
(A) Original drifted population
(B) Continental Drift
(C) Hardy-Weinberg principle
(D) Single step large mutation leads to speciation

@
(1)
(1)

1v)

Choose the correct answer from the options given below :

(1) (A0, (By(ID), (O)-(), (D)-(IV)
2) (A1, (B)-(IV), (O)-(), (D)-(I1)
() (A)-1), (B)-(1), ©)-IV), (D)-1)
4) (A1, (B)-(V), (O)-(I), (D)-()
Al:1
A2:2

A3:3

Ad:4

Objective Question

835 835

Which of the following deadly disease is completely eradicated through the use of vaccines and

immunization programmes ?
(1) Diptheria

(2) Small pox

(3) Whooping cough

(4) Leprosy

Al:l

A2:2

A3:3

A4 4

Objective Question

836 836
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List - II

Leads to/means
Saltation

Founder effect
Survival of marsupials

Genetic Equilibrium

4.0

4.0

4.0

1.00

1.00

1.00
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Match List - I with List - I1.

List - I List - II
Barriers Examples
(A) Physical () Interferons
(B) Physiological () PMNL neutrophils
(C) Cellular (LI) Mucus coating of Urogenital tracts epithelium
(D) Cytokine (IV) Saliva in mouth

Choose the correct answer from the options given below :
(1) (A)-(Imm), (B)-(ID), (O)-(IV), (D)-(I)
(2) (A, (B)-(1V), (O)-(1I), (D)-(I)
(3)  (A)-(LV), (B)-(LID), (O)1), (D)-(IT)
(4)  (A)-(IV), (B)-(IIL), (O)<(11), (D)-(I)

Al:1
A2:2
A3:3
A4:4

Objective Question
837 | 837 4.0 1.00
Which of the following is the precursor of mRNA, that is transcribed by RNA Polymerase 11 ?

(1) tRNA

(2) hnRNA
(3) 5srRNA
(4) SnRNA

Al:1
A2:2
A3:3
Ad:4

Objective Question
838 /838 4.0 [1.00
Given below are two statements :

Statement (I) : During the treatment of waste water, the primary effluent is passed into large
aeration tanks where vigorous growth of useful aerobic microbes occurs.

Statement (II) : In biological treatment of waste water, the effluent is passed into a settling tank
to allow flocs to sediment which are masses of virus associated with the bacterial
filaments.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement 1l are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct

file:///D:/INCET QP/ZIP/4_Live_NCET_GUJ/4_Live_NCET_GUJ_801-1200.html 14/163
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Al:1

A2:2

A3:3

Ad:4

Objective Question

839 839

Objective Question

840 840

Objective Question

841 841

4_Live_NCET_GUJ_801-1200.html

4.0
The tobacco plant is infested by Meloidegyne incognitia. This organism is a
(1) boll worm
(2) nematode
(3) stem borer
(4) Dbeetle
Al:l
A2:2
A3:3
Ad:4
4.0
Given below are two statements :
Statement (I) : Exonuclease remove nucleotide from specific position within DNA. While
endonucleases remove nucleotide from ends of RNA.
Statement (II) : Exonucleases functions by ‘inspecting’ the length of a DNA sequence, searching
for specific recognition sequence.
In the light of the above statements, choose the most appropriate answer from the options given
below :
(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement Il are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement [ is incorrect but Statement II is correct
Al:1
A2:2
A3:3
Ad:4
4.0

Select the incorrect statement regarding adenosine deaminase (ADA) deficiency.

(L)
()
©)
4)

ADA is caused due to inversion of the gene for adenosine deaminase

Genetically engineered lymphocytes are used in gene therapy for treating ADA deficiency
ADA deficiency can be treated by enzyme replacement therapy

ADA deficiency can be cured by bone marrow transplantation

file:///D:/INCET QP/ZIP/4_Live_NCET_GUJ/4_Live_NCET_GUJ_801-1200.html
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Al:l
A2:2
A3:3
Ad:4

Objective Question

842 842 4.0 |1.00
Given below are two statements :

Statement (I) : The normal E. coli cells do not carry resistance against any of antibiotics.
Statement (II) : Target DNA should be cloned in a vector with ori of high copy number.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct
Al:1
A2:2
A3:3
A4 4

Objective Question

843 843 4.0 |1.00
Match List - I with List - I1.
List - I List - II
Parts of pBR322 Features/Restriction site for
(A) Tetracycline resistance site () Pvull
(B) Ampicillin resistance site (II) Controls copy number
(©) rop (III) Bam H1
(D) ori (IV) Pstl

Choose the correct answer from the options given below :
(1) (A, (B)-(1), (CH(IV), (D)-(II)
(2)  (A)-(I), (B)-(1V), (O)-(I), (D)-(I)
(3) (A)-(ID), (B)-(I1L), (C)-(I), (D)-(IV)
)

(4)  (A)D, (B, (CO-(1V), (D)-(D)
Al:l
A2:2
A3:3

Ad:4
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Objective Question

844 | 844 4.0 |1.00
Given below are two statements :
Statement (I) : Many species of fig trees show tight one-to-one relationship with pollinators
species of wasp.
Statement (II) : The interaction between female wasp and fig fruits is mutualism.
In the light of the above statements, choose the most appropriate answer from the options given
below :
(1) Both Statement I and Statement Il are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement [ is incorrect but Statement II is correct
Al:1
A2:2
A3:3
Ad:4
Objective Question
4.0 1.00

845 845
Which of the following is not observed while acclimatizing in response to altitude sickness ?

(1) Increase in Red blood cells production

(2) Higher RBC count

(3) Increase in breathing rate

(4) Increase in binding affinity of haemoglobin

Al:l
A2:2
A3:3
Ad:4

Objective Question
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Which of the following is not a reason for mortality of fish and other aquatic creatures in a waterbody

discharged with sewage.

(1) Accelerated eutrophication
(2) Low BOD

(3) High BOD

(4) Algal blooms

Al:1

A3:3

Ad:4

Objective Question

847 | 847

Given below are two statements :

Statement (I) : Gross Primary Productivity (GPP) of an ecosystem is the rate of production of

organic matter during photosynthesis.

Statement (II) : Net primary productivity is always greater than GPTI.
In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II is correct

Al:1
A2:2
A3:3

A4:4

Objective Question

848 848

Phenylketonuria is an inborn metabolism error and inherited as :

(1) Autosomal recessive trait

(2) Autosomal dominant trait
(3) Sexlinked recessive trait

(4) Sex chromosomal aneuploidy

Al:1
A2:2
A3:3

Ad:4
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Objective Question
849 | 849 4.0 |1.00
Guetisdt siaug Feuzel G-l weudladl sz 9. 1R 2dn dH ey syl oisdlL

(A) w22 s [s2d)se sBrair 3% g um el
(B) [xglse sfaimi sk eraa szl

(C) Ul sBAuA e 2oy,

(D) 215 Rl ws sBai g3y [,
(B) s [sraiiul Radlse sBiad sri y:loauz.
Al 2 [Agediniall izl selet wris 430

1) B, (A), E), D) (©
2 (A), (B), B, D) (O
3) (@A) (B), (D) (E), (O)
4) (B, (B), (A), (D) (O

Al:1
A2:2
A3:3
Ad:4

Objective Question

850 850 n : " 40 1.00
213 2fE01 2 B (Aediez) wE esol AR srousd woLdiila dHel 41oM sHHL sr Ul :

(A)  [R3e wug viad,
(B)  USICISR A2AL A3 2A1dlAL A1 el Wil 217 W12 Assul Ysasll szell us.

-

(C)  CHIRGLE TUSIOSIR Uised U3 Wl 3 dctidl 24187 52 O,
(D) SIS 512 elisz-saide (2lss) uerlaua (unsrcll) v ¢etiar 52 9.
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2 ([©) (E) (O, (B), (A)

3) (A) (B), (©), (E), (D)

4)  (A) (©, (B), (E), (D)

Al:1
A2:2
A3:3
A4:4

Objective Question
931 931 }
Ai[Zud Wizisiadl Geal Al Gere/d Halled s3el ¢dl )

(1) AlA¢1Cu o

(2) sl eo ugust

3) iRl f2lsR YeLl

(4) ¢l el wélsyae e

—

Al:1
A2:2

A3:3

Objective Question
932 932 } 5
Alziq gl sl ugiel vl 2azd B218AR © 7

(1) stold s1isAss

(2) sdiRlsdiisdn
3)  efSIsRIS oiA
(4)  sioidla vess

—

Al:1
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A2:2

A3:3
Ad:4

Objective Question

933 1933 Question no. 1 to 10 are Mandatory 4.0 1.00
2 Bzl B18 © o Jzioiorl Ur-ly/ Wgd W yad ©,
(1) ddaet
(2)  lewois
(3)  lelsewdes
(4) ylsdl
Al:l
A2:2
A3:3
A4:4
Objective Question
934 1934 Question no. 1 to 10 are Mandatory 4.0 11.00
gl - 14 el - 11 A8 sl -
Qwel - 1 el - 11
(A) zud (O Aol sl seuidl sie s wigloye dey Aad]l
(B) Hldai (1) R Hofell deidl sy
Q) g (L) 321 uid 248 2o
(D) 3asids (IV) 2eAdHiA13518
oA12 2l [Gsedimisdl wisdl sveior ws 530
(1) (A)"(I_V); (B)-(IID), (C)-(I), (D)-(IT)
@ (AHD, (B)-(ID), (O)-(1V), (D)~(UI)
(3) (A, (B)AIV), (O)(ID), (D)-(I)
(4)  (AHIV), (B)-(I), (C)(ID), (D)~(III)
Al:1l
A2:2
A3:3
A4:4
Objective Question
935 935 Question no. 1 to 10 are Mandatory 4.0 /1.00
53/163
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et HIARAR AAL 2] A e so AL YAl yriad w0 ueRld sreudl 9. I3 2ual

SQL il sells /5His 419 $HHL 2Usdl
(4) §iM

(B) las

Q) RulPse (ue)

(D) MR

A2 2L [Aseiinis] lod [Bsey vuds s
() D) (A) (B), (©

(2) (B). (A), (©), (D)

(3)  (B). (O, (A), (D)

4) (B).(A) (D), ©

Al:1

A2:2

A3:3

Ad:4

Objective Question

936 936

Question no. 1 to 10 are Mandatory

SOQL Hi Al2iArmial $41 $6lls /530S (B2 ‘22.6r2" AlMS 201EAL 25152 o, BILH HEAUL HIZ UAHLed2L)
2 3

(1) 2432
(2) e
(3)  Hilssi
4) s

4

o

Al:1

A2:2

A3:3

A4 :4

Objective Question

937 |/937
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el - 14 Wel - 11 WS el -

QEl - I QgL - 11
(A) ik (M) o Azasdl w2 [As v 30 51 5 9.
(B) b (1) d@iAdpel Bodad [Boed oflesl whaldd 52 9.
(© Adlex (D) daisd (2als) 200 ([Bar) deds (LAN) [ gezzdz Qs el 9.
(D) Sidedd (IV) A0l 43aL [Hode d a8y oirid 9

f

A12L 2 [Gsedimigdl il svelel vaig 30
(1) (A)-(1), (B-(IV), (C)-(II), (D)~(I1)
(2) (A1), (B)-(I), (O)-(IID), (D)-(IV)
(3) (A, (B)-(ID, (O)-(IV), (D)-()
(4) (A1), (B)-(IV), (O+D), (D)-(II)

4

Al:l
A2:2
A3:3
Ad:4

Objective Question

938 1938 Question no. 1 to 10 are Mandatory 4.0 1.00

&5 NIC WA 8, o7 Azabuinl $92aq (A8 30 20l sieami wes 3w w9,
(1) P2y

(2) MAC 24

(3) URI

4) 8-¢lle

Al:1
A2:2
A3:3
Ad:4

Objective Question

939 1939 Question no. 1 to 10 are Mandatory 4.0 11.00
SQLAL 14 24Ud sHis (2UEUA) Qg 4 [AvsH o PR 2iul 521 :

select LEFT(RIGHT{"COMPUTER SCIENCE", 7), 3)

(1) COMP
(2) TER
(3) SCI

(4) NCE
Al:1
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A2:2

A3:3

Ad:4

Objective Question

940 1940 Question no. 1 to 10 are Mandatory 4.0 1.00
A2 sv LA DLl MM 222U2U O o sHIAUR AUl [SEiiqL Wt 53 8 [sey waig sal.
(A) x=int{input('Enter a number’))
(B) print(x+10)
(©) try:
(D) print(’It should be a number”)
(E) except ValueError:
A2 el [sediiall szl svelor uas 531 :
L ©, &), B), E) D)
(2 (A) (B), (©), (E), (D)
(3) (B, (Q) (A), (D), (E)
(4 (©. (D) (A), (B) (E)
Al:1
A2:2
A3:3
A4:4
Objective Question
4.0 [/1.00

941 941 Question no. 1 to 10 are Mandatory
L seridl [Helaid 540 SQL AL 2182l Wldrridl M 2iuel ?
(A)  Hldsz ¥ (<uB())
(B) Hldse MuddH ('2006-02-02);
(Q) Hlasz 4y 44 (Date (Now());
(D) #ldsz W ('2010-08-20");
(E) #ldsz 3 (Day('2010-08-24"));
eAl2 e [Qsedimiadl Al seeltol YiE 2L
(1) =R (B) ©
(2) A (A) (B), (O
(3) WA (A), (D), (EB)
(#4) A (B), (C), (D)

Al:1
A2:2
A3:3
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Ad:4

Objective Question

942 1942 Question no. 1 to 10 are Mandatory 4.0 1.00
A2 2RI Wl 5L (23 ctAAL) U] viRL [SEuIA R 53 o7 2L 518 (Asee) dlod qel 53 S
with open(”pr.txt”) as M:
x=M.readline()
(A)  sifadl saoll wlddl ameld v ai= 8.
(B) pr.ixt 5184 il o eiefl €14 ol adll e 8.
(Q) 512015 518d ofeL -2l sd Hi2 518 2R (HQ) UHA2L
(D) ‘pr.xt’ L zsuz 5194 O
(B) Als isul ‘pr.ixt’ 518 Hd S.
Al 20 [Asedinioll Wil sreno v 530
(1) A (A), (B), (D)
(2 ®A(A), (D), (B)
(3) A (D), (E)
(4) A (A), (B), (O
Al:1
A2:2
A3:3
A4:4
Objective Question
4.0 |/1.00

943 943 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
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s19a “Abctxt! Ul g ‘Final-tet’ el etiair ‘A7 ol 23 adl auet dlélzia auan e A2 ysvel e sis
UL B, vl 2045 516 2Ll viel w3l 8. vidl svrdlin diedl WL sHHL AL [Esedmigl oligdl -

(&)
(B)
(©
(D)
(E)

Al 2 uaL [asediuial 2eu [[sey vais 530

M
(2)
(3)
4)

Al:1

A3:3

A4 :4

Objective Question

944|944

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

@)
2
@)
4)

Al:1
A2:2
A3:3

Ad:4

Objective Question

945 11945

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

foriin

if

Fb.

Fa.close()
Fb.close()
write(i)
ABC.xt
readlines()
“Final-txt”, ‘a’
i[0] = ="A"

(B), (D), (A), (B), ()
(D), (B), (A), (E), (©)
(D), (B), (O), (E), (A)
(B), (D), (), (B), (A)

4_Live_NCET_GUJ_801-1200.html

2 d2l dis sl e siduel 2wl seeindl Rald 9.

terAds [Bsauedl
3210485 Fenizent
533l
Lelsergdee
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4RL % ‘Heaven.txt’ sldd- Al Yoroid 5-22 ©
[ INDIA IS LIKE A HEAVEN ON THIS EARTH |

MU $el Yovor 518 [RrUz Wizetl WL 53 gl [Bsey g 53
with open('Heaven.txt’) as p :
foriinp:
print(i[0 : 4])
print(ifi : 12])
print(i[2 : 4], i[7, 8], sep="%’)
print (i[ —1])
print( ####')
(A)  ##d##
(8) IEN
(© H
(D) INDI
(E) DI%S
Al 2 [Ssedrmisl Ao Bised waie 531
(1 D) (A), B) (B), (©
2 ©) B) (B), (), (A)
() (D) (A) (©), (E) (B)
@) (A), (B), (D), (B), (O

Al:l
A2:2
A3:3
Ad:4

Objective Question

946 | 946 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

el sl dedl G el g2 51 us ©.
(1) =2 (Front)
(2)  Gur(Top)
(3) woN (Rear)
(4) Ol PRI 24 Y10 (Both front and rear)

Al:l
A2:2
A3:3
Ad:4

Objective Question

947 947 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
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-

el - 14wl - 1 W eddl

gl - 1 gl - 11
(A) yu o (GROUP BY) () 2uBeyeui slan sl s3eu
(B) =iz “u (ORDER BY) () 2Rl 2uakd 154 Y45 53 9
(C) +lase (SELECT) (ID)  =selt/ Gozetl s34l d2id 2lisd ©
(D) ¢k (WHERE) (IV) e Yol 2ua0R 2408 dlZl2iia 13en qie &

no

A12 2ia [seqmigl]l 2l seanor wiE 2l -
(1) (A, (B)-(L), (C)-(1I), (D)-(LV)
(2)  (A)-IV), (B)<(D), (C)-(IT), (D)~(11L)
(3)  (AALV), (B)-1L), (OD), (D)-(1I)
(4) (A1, (B)-1), (O)-(1V), (D))
Al:l

A2:2

A3:3

Ad:4

Objective Question

948 948

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

2] 6157 LUAL A UL sl 6 A GewiEr-l WA NIC W2 d 2il5ct s3aml 209 ©.
(1) P33
(2) MAC 2%
(3) IMEI
(4) 1PV,

Al:1
A2:2
A3:3

A4 :4

Objective Question

949 11949

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 /1.00

[Aenzdl 2orar 2ian aum [Qauslltiag sisMad 4o (2lhad 4oz, 4, REwd, wdd) s 1500 9l @t
¢l el 2518 SQL gl 52 sreul Wiz Al WL SHIS (A=l 282l sveudl -

(1) STUDENT %8l Admno §3 531 sl Admno < 1500;

(2) STUDENT il §2 531 seti Admno < 1500;

(3) STUDENT il * g2 531 ol Admno < 1500;

(4) STUDENT §% 531 sl Admno < 1500;

Al:1
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A2:2

A3:3

A4:4

Objective Question

950 1950 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
Al gl 53 Aot uddl Biodad 4 3 beid deasul yrt udiféa 539 )
1) ¢
(2) duiz
(3) Adeat
(4) ddlex
Al:1
A2:2
A3:3
A4 4
Objective Question
951 1951 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
gl (sHeiA) Hi AlRAeiel s unued Jd el ¥ 97
(A) =354 3% (IndexError)
(B) dey ¥z (ValueError)
(Q) 4l 2% (KeyError)
(D) Riezsu wi (SyntaxError)
(E) g% 233 (NameError)
A% 2y [aseuiisl dioy [Fsey vwe 520
(1) WA (A)
(@ et (B), (D)
(3) et (A), (), (B)
(4) et (A), (B), (D), (E)
Al:1
A2:2
A3:3
A4:4
Objective Question
4.0 1.00

952 1952 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
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el - 14 wel - I We sdsl -

QgL - 1 el - 1
(A)  AlEsH (Prefix) () ab*cd*+
(B) &l (Push) () st 2ol 2idlired §2 539,
(Q) ize (54 (Postfix) (D) 225t 20400 43 2dl3ieen Gy
(D) LMl (Pop) (IV) +**abed

f

A12L 2 [Gsedimigdl Wl sveel vaig 30
(1)  (A-IV), (B)1), (C)-(II), (D)-(11I)
(2)  (AHIV), (B)II), (O«D), (D)-(1I)
(3) (A, (B)-(IV), (O)11), (D)-(I)
(4) (A1), (B)«(1D, (O)-(1), (D)-(IV)

4

Al:1

A2:2

A3:3

Ad:4

Objective Question

953 953 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

dlse soie edllGne Aeal USRAL A2etse, GElgreL ©.

(1) PAN
(2) LAN
(3) WAN
(4) MAN
Al:1

A2:2

A3:3

Ad:4

Objective Question

954 954 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

2044 EMP L ‘5 <’ ("Phoneno’) @idl 2otd | slaaaiisl udal 3 21820 A2 wigdl 59 salell (vauaHl)

qoell 21517

(1) EMP #igl 24 530 LEFT( Phoneno’, 3);

(2) EMP Wizl Wy 53 substring(Phoneno, 1, 3);
(3) EMP #igll = 530 substring(Phoneno, 0, 3);
(4) EMP #igl 244 530 substring(Phoneno, 1, 4);

Al:1
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A2:2

A3:3
Ad:4

Objective Question

955 1955 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
2532 SlSUA QPY A usd, €l g, [Aei 2ol
(1) oMl WA g1 A=l 281 doL getisEl ¢ 8.
) s el (2sud 2 L dug 8.
(3) s Hlgse 0s i 1s 23U AR 524 9.
(@) et s18anl €25 gl dey 2iails cudex (bytes) 34 dlEd sux 9.

Al:l
A2:2
A3:3
Ad:4

Objective Question
956 1956 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

™

‘dldlz wod Al cgt®isal gaiaal [@seud Ali-misdl s
(A) o el wd s ol ©.

(B) o ugdl ‘Bicdlire’ | qaril WA U3 Ud O,

(Q) o oot 530 2 ol ([Reuds =i 5157) [l Gualel 53 8.

-

(D) o s il g 9l 2ueiddan o,

(E) o ‘428 242 vz 514 53 9

A1 el [aseuinial dioy [Ese v 1
(1) ™A (B), (©), (B)

(2) A (A) (O (B)

(3) A (A), (), (D)

(4) A (A), (B), (D)

Al:l
A2:2
A3:3
Ad:4

Objective Question

957 957 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
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Al il 4 RDBMS + Gergaul «4l 7
(1) MySQL

(2) MongoDB

(3) MS-ACCESS

(4) ORACLE

Al:1l
A2:2
A3:3

A4:4

Objective Question

958 958

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Al2Ainiedl 54 R4 (DEQUE) - 4lbid 53 © 7

4_Live_NCET_GUJ_801-1200.html

(A) ‘g ueliezay L aea siduet seodisl deynd wil s,

(B) s ‘setd wdz & O,

Q) syl 22Ul Aoy GHl/ 48l us
(D) yBow R dey Gl - ustd

(B)  syetl o0l dey g3 sdl s

—_—

Al 2l [Esedipidl |l svelor Y s30

(1) A (A) (B), (O
(2) WA (B), (O), ()

(@) A (A), (D), (E)
(#) A (B) (D), (E)

Al:1
A2:2
A3:3

Ad:4

Objective Question

959 11959

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
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¢ €25 WK (Pass) Al id el el YouisiHl uel-l Gl 20l 9 o ued 1 - wdiol 3 dizeeuui

4_Live_NCET_GUJ_801-1200.html

Byl B, g5 Ut 2id WL Faula sulual [Bseud wiis 53l
YIRLS el 24 Yoved © : 24, 22, 43, 17, 5, 20

(A) 22 24 17 5
B 5 17 20 22
() 5 17 20 22
Dy 22 17 5 20
€) 17 5 20 22

20
24
24
24
24

43
43
43
43
43

Al 2L [Eseinisl Aoy [Gsey yais 531

1 © (B) () (D), (A)
2 (A) (D), E), (B) (©)
3 (B), (©) (E) (D), (A)
#) (A (D), (B), (O), (B)

Al:1
A2:2
A3:3

Ad:4

Objective Question
960 | 960

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

el - 14 wel - I We sdll -

el - 1
(A) dol Ugsy
(B) [l 518 s18d
(@ I T
(D) MySQL

—

gl - 11
() cdelEud alisauda dal
(D) e [Gmus 3el
(1) 3zioidss Hesri-z Rireu
(IV) ez 22l

Al2 2 [Gsedimigdl Wl svalel vaig 530
(1)  (A)-(D), (B)-(LI), (C)-(L), (D)-AV)
(2)  (A)-(IV), (B)«(1D), (O)-(T), (D)-(11T)
(3)  (A)(II), (B)-(IV), (O11), (D)-(D)
(4)  (A)HLV), (B)-(I), (C)(II), (D)~(11T)

Al:1

A2:2

A3:3

Ad:4

Objective Question

961

961

Question no. 1 to 10 are Mandatory
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2 Bzl B18 © o Jzioiorl Ur-ly/ Wgd W yad ©,

) dldan

) Lelols vl
(3)  lelsewdes

) ylasdl

Objective Question

962 962

Question no. 1 to 10 are Mandatory

qgl - 14 wsl - 10 Wl «ddl -

Qwel - 1 el - 11
(A) zud (O Aol sl seuidl sie s wigloye dey Aad]l
(B) Hldai (1) R Hofell deidl sy
Q) g (L) 321 uid 248 2o
(D) 3asids (IV) 2eAdHiA13518

o

(1) (AAIV), (B)-{II), (O)-(D), (D)-(1T)
@ (AHD), (B)-1), (Q-1V), (D)~
(3) (A, (B)-(IV), (O)-(11), (D)-(D)
(#)  (AHIV), (BAD), (CH(ID), (D)D)

Al:1
A2:2
A3:3

A4 :4

Objective Question

963 /963

Question no. 1 to 10 are Mandatory

Al2 2 [Sseqimiadl Wl sl YRiE 530
)
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et HIARAR AAL 2] A e so AL YAl yriad w0 ueRld sreudl 9. I3 2ual

SQL il sells /5His 419 $HHL 2Usdl
(4) §iM

(B) las

Q) RulPse (ue)

(D) MR

A2 2L [Aseiinis] lod [Bsey vuds s
() D) (A) (B), (©

(2) (B). (A), (©), (D)

(3)  (B). (O, (A), (D)

4) (B).(A) (D), ©

Al:1

A2:2

A3:3

Ad:4

Objective Question

964 | 964

Question no. 1 to 10 are Mandatory

SOQL Hi Al2iArmial $41 $6lls /530S (B2 ‘22.6r2" AlMS 201EAL 25152 o, BILH HEAUL HIZ UAHLed2L)
2 3

(1) 2432
(2) e
(3)  Hilssi
4) s

4

o

Al:1

A2:2

A3:3

A4:4

Objective Question

965 /965
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Question no. 1 to 10 are Mandatory
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el - 14 Wel - 11 WS el -

QEl - I QgL - 11
(A) ik (M) o Azasdl w2 [As v 30 51 5 9.
(B) b (1) d@iAdpel Bodad [Boed oflesl whaldd 52 9.
(© Adlex (D) daisd (2als) 200 ([Bar) deds (LAN) [ gezzdz Qs el 9.
(D) Sidedd (IV) A0l 43aL [Hode d a8y oirid 9

f

A12L 2 [Gsedimigdl il svelel vaig 30
(1) (A)-(1), (B-(IV), (C)-(II), (D)~(I1)
(2) (A1), (B)-(I), (O)-(IID), (D)-(IV)
(3) (A, (B)-(ID, (O)-(IV), (D)-()
(4) (A1), (B)-(IV), (O+D), (D)-(II)

4

Al:l
A2:2
A3:3
Ad:4

Objective Question

966 | 966 Question no. 1 to 10 are Mandatory 4.0 1.00

&5 NIC WA 8, o7 Azabuinl $92aq (A8 30 20l sieami wes 3w w9,
(1) P2y

(2) MAC 24

(3) URI

4) 8-¢lle

Al:1
A2:2
A3:3
Ad:4

Objective Question

967 967 Question no. 1 to 10 are Mandatory 4.0 11.00
SQLAL 14 24Ud sHis (2UEUA) Qg 4 [AvsH o PR 2iul 521 :

select LEFT(RIGHT{"COMPUTER SCIENCE", 7), 3)

(1) COMP
(2) TER
(3) SCI

(4) NCE
Al:1
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A2:2

A3:3

Ad:4

Objective Question

968 | 968 Question no. 1 to 10 are Mandatory 4.0 1.00
A2 sv LA DLl MM 222U2U O o sHIAUR AUl [SEiiqL Wt 53 8 [sey waig sal.
(A) x=int{input('Enter a number’))
(B) print(x+10)
(©) try:
(D) print(’It should be a number”)
(E) except ValueError:
A2 el [sediiall szl svelor uas 531 :
L ©, &), B), E) D)
(2 (A) (B), (©), (E), (D)
(3) (B, (Q) (A), (D), (E)
(4 (©. (D) (A), (B) (E)
Al:1
A2:2
A3:3
A4:4
Objective Question
4.0 [/1.00

969 1969 Question no. 1 to 10 are Mandatory
L seridl [Helaid 540 SQL AL 2182l Wldrridl M 2iuel ?
(A)  Hldsz ¥ (<uB())
(B) Hldse MuddH ('2006-02-02);
(Q) Hlasz 4y 44 (Date (Now());
(D) #ldsz W ('2010-08-20");
(E) #ldsz 3 (Day('2010-08-24"));
eAl2 e [Qsedimiadl Al seeltol YiE 2L
(1) =R (B) ©
(2) A (A) (B), (O
(3) WA (A), (D), (EB)
(#4) A (B), (C), (D)

Al:1
A2:2
A3:3
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Ad:4

Objective Question

970 1970 Question no. 1 to 10 are Mandatory 4.0 1.00
A2 2RI Wl 5L (23 ctAAL) U] viRL [SEuIA R 53 o7 2L 518 (Asee) dlod qel 53 S
with open(”pr.txt”) as M:
x=M.readline()
(A)  sifadl saoll wlddl ameld v ai= 8.
(B) pr.ixt 5184 il o eiefl €14 ol adll e 8.
(Q) 512015 518d ofeL -2l sd Hi2 518 2R (HQ) UHA2L
(D) ‘pr.xt’ L zsuz 5194 O
(B) Als isul ‘pr.ixt’ 518 Hd S.
A2 24e (s eqiuisl Wil sreol ude 3
(1) et (A), (B), (D)
@ et (A), (D), ()
(3) A (D), ()
() et (A), (B), (©)
Al:1
A2:2
A3:3
A4 4
Objective Question
971 971 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
Adalr 225 (STUD) i “$ii 817 Gazen Ala-risll SOL sHisl (21EiAl) =l ey 21,
(1)  Alter table STUD add foreign key (roll) references STUDENT(roll);
(2) Alter table STUDENT add foreign key(roll) references STUD(roll);
(3)  Alter table STUD modify foreign key (roll) references STUDENT (roll);
(4) Alter table STUDENT update foreign key(roll) references STUD(roll);
Al:1
A2:2
A3:3
A4 :4
Objective Question
4.0 [1.00

972 972 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
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58 2L A8 Wi (2UL) €1 S i B35 Ui (i) 2is sl 2l qUR e ZUdly Gu S )
(1) 4 (Bus)
2 EoL(Ring)
(3) ¢l (Tree)
(4) %212 (Star)
Al:1
A2:2
A3:3
Ad:4
Objective Question
973 973 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
gl - 1A el - 1A sl -
el - 1 el - 11
(A) Hitu M NIC ail3 wor 2oy © (deasd dezxiy 518)
(B) Suzrzs1 (1) 2izel AR s¥eer 8o AUNEL GUsell ssal Gl au ©
(© el (1) Azl udizL 2 (s gR L oyfisL vl ©
(D) Sided (IV) AL Redg 21 deged Brey 922 suidrel
A% el [sedimisdl Al sveiol uie 52 :
(1) (A)-D), (B)-(IL), (C)-(II), (D)-(LV)
(2) (A)-(ID), (B)-(I1D), (C)-(IV), (D)-(I)
) (A)HIV), (B)-(I), (C)-(1I), (D)~(IID)
(#) (A, (B)-(IV), (O1), (D)-(II)
Al:1
A2:2
A3:3
Ad:4
Objective Question
974 974 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

A2 20 2oteunigl sian Sl il -

(a) Emp(empno primary key, ename, address, depmo)
(b) Dept{depmo primary key, deptname, daddr)

(1) Emp 4i&ll empno

(2) Dept Higl deptno

(3) Emp wig| deptno
(4) Emp 3igl address
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Al:1

A2:2
A3:3
Ad:4

Objective Question

975 975 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
23S UG, AL Qi 218 edrealt -1 2nan [Csedl 48] wmglin sisl (Ruznl) Azl s34 e s
Byl $HLS (248L) 2A€] 2o 3L A2l
(A) city =['Delhi”, “Mumbai”, “Lucknow”, “Jaipur”]

(B) plt.show()

(©) temp=[37.6, 28, 30, 35]

(D) import matplotlib.pyplot as plt
(E) pltplot(city, temp)

efl21 2404 [Aseiiuisl Aoy [Gseu waie 1
(M (©), (D), (B), (E), (A)

2 (B, (A), D) (©) (B)

(3) (D) (A), (©), (E) (B)

4) (A), (E), (B). (C), (D)

Al:1
A2:2
A3:3
A4:4

Objective Question
976 976 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

N

A2 2]l S LA S2BHAL Agell 97
(A) head

(B) dtypes

(C) shapecount

(D} nvalues

B) T

A2 2L [seuinizl dioy [Qsey vads 2
(1) ™A (A) (O, (D)

(2 A (A), (B), (B)

(3) A (Q), (D), (E)

(4) A (B), (C), (D)

Al:1
A2:2
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A3:3
A4 4

Objective Question
977 977 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

“SCHOOL” $z1eidosuigdl [Aanadl2Ail 38l Buisal SQL ¥ezal-eedl il 53 WiE 531 -
(A) 22$ve deypul Y8l (101, “Sachin’);

(B) wgeril Guaial 531; (USE SCHOOL;)

(Q) 294 2gsv2 vl (RollNum INT, Sname VARCHAR(20));

(D) 321912 25d viildl; (CREATE DATABASE SCHOOL;)

(E) * §I™ 224+2 W€ $31; (SELECT * FROM STUDENT;)

A% el [sedimisdl Al sveiol uie 52 :

(L) (A) (D), B), (O, (E)

2 D), (B), (O), (A), (E)

3) D) (O (A), (B), (E)
#)  (©, (D) (B), (B), (A)

Al:1
A2:2
A3:3
A4 :4

Objective Question

978 978 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Agl - 14 Wl - 11 28 sl -

gl - 1 gl - 11
(A) HITP O sFRSAd sarie- udz Widy
(B) FTP (1) Asare-aui-u wizlsid
(C) TCP/IP (1) S-Hded Hld Hie Hizlsld
(D) SMTP (IV) 5196 gleis3 Hizel Wizisid

A12 2 [Ssedimiddl Wl svalel vaig s30
(1) (A)-(IV), (B)(I), (C)-(IT), (D)~(I1L)

(2) (A1, (B)-(IV), (O)-(I), (D))
(3) (A, (B-(IV), (C)-(I), (D)-(ID)
(4) (A, (B)-(IV), (O)-(1D), (D)-(I)
Al:1

A2:2

A3:3
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A4 :4

Objective Question

979 979 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
2-D 23 (array) AludlA s S2U cAgdl WHiAHAL s3s (2ue) AR BilBid 310 2liar 9. s3isHl
(BUReAl) Hl s4 galdal [Bseud s 52l -
(A) df=pd.DataFrame(nr)
(B) import numpy as np
(C) print (df)
(D) import pandas as pd
(E) nr=np.array([[0, 1, 2], [4, 8, 12]], np.int 32)
A2 200 [Asediuisl u [Fsey vaie s
(1 (B), (©), (D), (E), (A)
2) @) (B) (B). (A), (©)
(3) (A (B), (D), (O), (E)
(4) (A) (B), (D), (B), (O)
Al:1
A2:2
A3:3
Ad:4
Objective Question
980 980 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
2 SQL L <3R5 521 (divaiicus s1d) -l
(1) MOD()
(2) TRIM()
(3) POWER()
(4) ROUNDY()
Al:1
A2:2
A3:3
Ad:4
Objective Question
4.0 |/1.00

981 | 981 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
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Uil Setgue Al-misdl 54 52 CSV sidanL 2si8xaial 2ol 2aal wsn-l 2 (row) 2uail)

(A) head()
(B) First()
(C) head(n)
(D) Tail()
(E) Last()

Al 2l [Esediill 2=l seeuo vxds 521
(1) MA(A), (B), (B)
(2) ™A (A) (O, (D)
(3) A (B), (O), (D)
(4) A (B), (), (B)

Al:l
A2:2
A3:3
Ad:4

Objective Question

982 1982 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

AAlri-Ad 3210 I AL A2 (Y Hedl) §r svel AlRimigl £ f5ed i 9)
(1) dropmissing()

) dropnull()

(3) dropall()

(4) dropma()

Al:1

A3:3
A4 4

Objective Question

983 983 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 |1.00
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Al2iAigl sl sHis (2482) SQL $947lA ‘conn’ ses2ie dudlA 225l 2l 538 sl sl cdeddl pd. ol
AL 5AL © 2l T1 A 29 M D)

(A) pd.read_sql _query(‘select * from T1’, conn)
(B) pd.read sql_table(T1, conn)

(C) pd.read_sgl('select * from T1’, conn)

(D) pduread_sqgl query(T1, conn)

{13 2 a [Aseiuisl e [Bsed waie 530

(1) ™A (A), (B), (O

@) WA (A), ©)

() A (B), (C) (D)

(4) ™A (A), (), (D)

e s e e

Al:l
A2:2
A3:3
Ad:4

Objective Question

984 1984 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

e et

el - 14 el - 0 e sl -

el - 1 el - 11
(A) Show() @ ol e tul siEypia 519
(B) grid() (1) g 2 /20 w5 asls s X [Brea Y
(Q) legend() (1) [BoR /U2 evilsal auzId &
(D) plot() (IV) AL 2481 W3 A= £21A D

no

A12L ke Fs izl el svdlol viE 531
(1) (A1), (B)-(IV), (C)-(I), (D)-(11I)
(2) (A1), (B)«(I), (C)-(D), (D)-(IV)
(3)  (A)-D), (B)-(IL), (O)-(1V), (D)-(11)
(4) (A, (B)«(D), (CH(IV), (D)-(ID)
Al:1

A2:2

A3:3

A4:4

Objective Question

985 | 985 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
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Al2bAiEl 53 dell Saauza 2us sl sudl 2008 97
(1) Virus
(2) Trojan Horse
(3) Adware
(4) Cookie
Al:l
A2:2

A3:3

A4:4

Objective Question

986 | 986

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

¢52d e stiet 519 Bizeuel Yaaua aoidl vdldid loeien 2 de Yaizasi vee 51 9.

(1) ds ¢eu
(2) wede dey
(3) Aedey

(4) Al4 ey

Al:1
A2:2
A3:3

A4:4

Objective Question

987 | 987

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

yretieoll (A shiluide axiadl sl amzdl 21 sl 9.
(1) Hee2

) siludz oot
(3) s

) 2Alud Hid sz

Objective Question

988 /988

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
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Al il [Bum [Seed 2o

(1) lgedant 51 sidlzidesd]l Y B 590 2l

(2)  #igedze -Atm 2 dioll Aaell s3d gsuls dsn 2l

(3)  odloetl st Guadlol 536l Wiz Uizl M2 Yadl WHIeMA (adequate citation ) A 2l 248 2 Hldcudidl
(msiEl) (rAlBAliny) 9.

(4) 5186 Lzl seboudlHl widelsd dere g1 yaldid 3l usisl

Al:l
A2:2
A3:3
Ad:4

Objective Question

989 989 4.0 1.00
508 24 2l (st B s (NABARD) il w2t A2 2uian [Ssedl T8l 21 wevari Gag wus ud

eddl, dl d 2o [Bseud 200 ol ;

(1) Hulact aube 2ulEs dal 2en delHzad Gloy szaL
(2) iRl MU ALoE S2AL.

(3) =l adlefla e sraL

-

(4) b sild daal
Al:l
A2:2
A3:3
A4:4

Objective Question
990 /990 4.0 [/1.00
isua sl 2z (st dsiqilisd) eizuzadl 2l e © o A= sveudadt ddq deilbd 9

(A)  Guolisdidl

(B)  Sudliinal

(Q) 54 “uasl (24E0e Aldo)

(D) abisinl

(E) ulBauas

ofl2 2t [Esedimisl Al [@seud] wriesll 52
(1) #5(A), (B), (O) 2t (E)

(2)  #5(A), (B) (O) > (D)

(3) &t (A), (B) i (D)

@) 5 (A), (B) 2 (B)

Al:1
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A2:2

A3:3

A4 :4

Objective Question
991 991

™ TR e

61 GeaL BisuL E1d Al Brumi dey- 218 (Yeualdd) el o GDP 3

4_Live_NCET_GUJ_801-1200.html

uél

A

B

cLeL

100

7300

X ERTEIL Y

0

7100

(1) T 400
@ %100
(@) % 200
4) T 300

Al:1
A2:2
A3:3
A4:4

Objective Question

215l g2lida ol il as (dl-dlar [onis sd) del ygdidl Fuldzumsdl 21 gzdl sedl s9uR

992 1992
ﬂ%iﬁ
K
ol ]
I
H
G
| Fd T
Yrasl Hial
A) G
() H
© 1
(D) 1]
(E) K

Al vt szl Azl seaiet yHE 53

(1) (A), (B), (©), (D) (E
2 @) (B) (©), (B) (A
@) (©, (D), (B), (B), (A
“) (B, D) Q. (B) (A

Al:1

e
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A2:2

A3:3
Ad:4

Objective Question
993 1993 4.0 1.00
‘g -2’ (ex-ante) (McdiRic)wReuls 210g o Yud O 7

(1) ardsui g aled oy ed)

) 4 2l sl 2y, ¢, 7

(3) Uyt e Sl 22 20U [Cudq
) el g etdant 53 ¢dl?

Objective Question
994 1994 4.0 |1.00
GerdlA as (1) (S35 5et) AL (Bl Ala-imisl s34 [Qauq e a2l

(A) 1C s16t ¢l srugl AR dzs uzs .

(B) IC i G2 25 Guaiblaiel G g3 20U ©,

(Q) 6 IC so{lsdrt uRuz iy ©.

(D) [Eseunl dedl svdl Mhd 22l [Fm qepud 9.
(E) #isel2 »ifEmn

A2 e (s edimigdl] wz Bseu uaie 53

(1) 55 (A) 214 (B)

(2) $(C) 21 (D)

(3) (O

4)  $5 (©) i (B)

Al:l
A2:2
A3:3
Ad:4

Objective Question
995 /995 4.0 1.00
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i lsrd Ul (velifor sBRidl) 22l saL gl sud edl?

(1) 1951

(@) 1952

(3) 1950

(4) 1953

Al:l

A2:2

A3:3

A4:4

Objective Question

996 996 4.0 1.00
gl - 14 wel - I W8 edsl e
QEl - 1 gl - 11
(A)  duR =levetad § MpU-A () sl ueell 2 Al g (wad) and usi
(B)  ctuRigL Ao Ulsreirdil () G ubami Guaiomi deudl dlsvsrg
(© 3led 9ss (deoid ) (1) 2dldn srizisd g1zt el flersizd
(D) azououAl lsvetzdil (IV)  GeuigeL 2= 519 detssigdl ¢a d =dlsvard Wil ¢l

no

A12L e [Aseuiisl ded (aseudl vais 521
(1) (A)-(D), (B}-(IL), (C}(I), (D)-(IV)

(2) (A1), (B)-(IV), (C)-(I1D), (D)~(T)

(3)  (A)-D), (B)-(IL), (O)-(1V), (D)-(11I)

(4)  (AAIV), (B)HIII), (C)-(ID), (D))
Al:1

A2:2

A3:3

A4 4

Objective Question
997 1997 4.0 |1.00
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Aefl wedlaaddl (del opetis) slEaA el 24y 3 dlisdl :

(A) G5 s¢ien T 64/~ Gl 2uU ©.

(B) &d AMBL T 500/- Al i B

(C)  dlel T 100 sl s215 B, 2iemd &3 ([Faed 3all2il) 20% ©.

(D) 2 ol 3l % 100 45l ug e 28l Mlsd yred 2w o,
(E)  seuMId Sl @15 80 Gl 21 9.

A2 2utaL Bseumisll diod sesior xie 52

() (A) (E), ©. ®), D)
2 (©, (B) (A), D), (B)
) (B), (B), (A) (©), (D)
#) (D). (B) (A) (©) (B)

Al:1
A2:2
A3:3

Ad:4

Objective Question

998 998

Al el 54 ey WA (e 2silaur) AL ool 49l )
(1) gl 2eudl waxldl
) Hrel W
(3) AR siLsud HHaugel
) ISR IR0 SRRE L UR dlseedl sl

Objective Question

999 11999

WA Yolotet” (AAlds 2u¢) [ouadl si-l wa 2ol 97

(1) %22 ols iy B2

(2) [ ois s Sl

(3) e ds

(4)  *2is sy (7 olal?)
Al:1

A2:2
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A3:3

A4 :4

Objective Question
1000 | 1000 4.0 |1.00

Al isll viel [Seudia 210

(A) APC 2izd 2Al95Els qurigl

(B)  uigl WAL 2L gyl v W s ddl el dviy 9.
(Q) vl 2151 dddl 21es ([odizod S54) 21 i dr1 (Sspzse esd) vl adl »uas ©.
(D) RAsteL WA ado ueeHl el sl 53 9.

(B) otudl =l acn ueaual ozl 514 53 9.

A2 2 [Asedinioll sl sealol s 531

(1) (O, (B) > (B)

(2)  #(C) = (D)

(3) 5t () i (B)

(4) 5t (A), (B), (C) i (D)

Al:1
A2:2
A3:3
A4 :4

Objective Question
1001 |/ 1001 4.0 |1.00

-

HlEL walsdlAl sz3leide del d10M s34 slisal
(A) 3Med 25162 Ad- (Y&l 25162 G- NQeuml 2ud 8.
(B)  #IEL WAL BOP My GEmd 8.

(C)  2$ Ad UMl U4 9,

(D) =g vidiAl Ad-ul 2l s ©.

(B) 3l vt g1z sl s3-2 25162l (g Hictiedl) wis
A2 2 [Esedimizl wiml svelier vHE $1

M (A), (Q), (D), (B) (E)

(2 (B), (D) (O, (A), (B)
@) (©, (D), (A), (E), (B)
(4) (B), (A) (©), D), (E)
Al:1
A2:2
A3:3

Ad:4
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Objective Question
1002 1002

ofitgs1H A5t 24 Ld veL 2R © ¢
(1) weuzel s+l

(2)  2usleus daq alus
(3)  E-3UsoUR

(4) gsunsfisl

Al:1

A2:2

A3:3

Ad:4

Objective Question
1003 | 1003

QRIEUAE A1 W Y BE- AR W 22l S0 W] il s Sudl s bl oflsd aul 4F sdd

B dd Ao 2oy 9.
Yaiol [esen 28 widl svoul ol :
(1)
(2)  weadl v (goods)
(3)  2ls, WAyl

(4) s (Hefald)

a8 (2oL 953

Al:1
A2:2
A3:3
Ad:4

Objective Question

4_Live_NCET_GUJ_801-1200.html

1004 || 1004
el - 1A gl - I A edsl
el - 1 wel - 11
(A) GDP,_ () GDP,_, —=3ein (82u3l)
(B) GNP, () GNP, —2ieyeirt (84R1)
(C) NDP,, () GDP,,, — NIT
(D) NNP,, (IV) GDP, + NFTA

A2k e [seqinial i [Gsey v3ig 521
(1) (A, (B)-(L), (C)-(IV), (D)-(1T)
(2) (A, (B)-(IV), (O)-(D), (D))
(3) (A1), (B)(1D), (C)-(1V), (D)-(D)
4) (AU, (B)-(IV), (OD), (D)-(1D)
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Al:1

A2:2

A3:3

Ad:4

Objective Question

1005|1005

4_Live_NCET_GUJ_801-1200.html

sl MPC=0.2 ¢4, dl 52 2|0l (254 leradir) L yeudll aeiddl 53 -

(1 —1d
(2 1/4
(@) 5/4
(4 —5/4
Al:1
A2:2
A3:3
Ad:4

Objective Question

1006 | 1006

A2l Al el A AN Yerod dLlsdl :
(A) ol g

(B) =

(Q)  Hrzd ols 2ils Slesul

(D) TISCO (22l 24k 2irs 2Eld Susil)
A1 2L [Esedinioll W=l sediol s 1
1 @), (A), (D), ©

2 (@A) (B), (D) (©

(3) (A) (B) (O, (D)

(4) B, (A) (O (D)

Al:1
A2:2
A3:3

Ad:4

Objective Question

1007 /1007
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el - 14 wel - 1 A adsl e

el - 1 gl - 11
(A) M, 4 M, () sl idRs e 44l
(B) 513189 gy (Flat money ) () A~ge 605 813l SR USId ULl
() Gea wulsazuoll g (D) sivi(32losd et uaell sl 2oy 4 it
(D) i 32 (V) =gl s

f

Al2 2 [Gsedimigdl Wl svalel vaig 530
(1)  (A)-(I), (B)-(11), (C)-(I), (D)-(1V)
(2)  (A)-(ID), (B)-(I), (O)-(1I), (D)-(IV)
(3)  (AAIV), (B)-(I), (C)-(11), (D)-(11T)
(4) (A1), (B)-(ILD, (O)-(1V), (D)-(I)

s

Al:1

A2:2

A3:3

Ad:4

Objective Question

1008 | 1008

30izd otsve ARl 2L qe 9l s2d 7

(1) wilzdlel

(2) et S0ed Bisuulsun (Yl vl i)

(3) -l 3 [ sl (Aird-relidt Yol wal)
(4) 25 (drl) dirt-2su e

Al:1
A2:2
A3:3

A4 :4

Objective Question

1009 | 1009
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w2 Qe 2ol

(A) WY MU Yeurdl viaasirsdl —1 4l +1 o9 w¢dl 8.
(B)  ute s =2u1d — s

(Q)  ues (A5 U articns € ©.

(D) Mz v 2 8 5 seHi [A5130 sl 240 98, .
(E)  »uicel Hist s5ct czetlas Al gz uz [Rolz 9.
A% 2 [Asedisiadl sl seaiol g 530

(1) 5 (D)

(2) 5t (A), (B) > (D)

(3) 5t (A), (O) (D) i (B)

(4) g5t (D) = (B)

Al:1
A2:2
A3:3
Ad:4

Objective Question
1010 1010 4.0 1.00
‘e 512 205 (Ao 240 vesuiaL sinL Heel il s2Al?

(1)  o/oHUR UL AR
) EELUE AsRlY)
) 2wlA 24l v

) s (e

Objective Question
1011 | 1011 4.0 1.00
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Al2 sveiEdn dH-AlL 2UoHA A8 $3 oSl
(A)  OURAHL EIMM 53 YHIRL

(B)  l-mi £1mA 536 YAl

(Q)  wlBciAvi e 53 Yarl

(D) sedly glzad

Al 2l [EBsedisioll sl seaiol vzig 530
(1) (B, (D), (A), (O

@ ([©), (B) (A, ©

(3) (B, (D), (©), (A)

(4) (D) (B), (©), (A)

Al:1
A2:2
A3:3

A4:4

Objective Question

1012 /1012

el - 14 wel - 1 Wl adsl e

Qe - 1 gl - 11
(A)  E2dHIA 9UR M ulel (Aeuil)
(B) ERAUIAAUR (I) 28 olde=d (Aau
(Q) g wid (OD) 2450 (W)

(D) Wiezd Gy (IV)  Wlctirl B2ledl 24 241 B2 ABRLESL 924 Ul 21185 a1l

ALt 2w 8.
Al 204 Fsediiadl 2l seeied wiE sl
(1) (AAD, (B-(II), (CH(IV), (D)-(ID)
(2)  (A)-m), (B, (C)-(1), (D)-IV)
(3)  (A)IV), (B)-(1D), (O)-(1D), (D)-[@)
4) (A, (B)-(D), (O)-(IV), (D)-(1I)

Al:1
A2:2
A3:3

A4:4

Objective Question

1013 1013
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GulRael s1n g2l S1-Al ABA 24 WAEls 2UASAL BiELd WO sv Wyl AR 8L édl]

243, 4. sad
.52l 2

(1
@3]
(3)  glesd 2l
(4)  EIELUE AR
Al:1
A2:2

A3:3

A4:4

Objective Question

1014 /1014

el - 14 Wl - 1 WA adsl e

qel - 1 gl - 11
(A) sl Yuil () HiEH AL s722] o 2 53] 25t
(B)
Q) 2uldls A (el (1) §0 &3 Goulg ABURAL SRUAL YARIAEIRL
(D) H.Y.V. ¢llsy (IV) =il ollsy o eAgloll MAe st 20
A2 2utaL B izl Al seaiet wus 520

(1) (A)-(), (B)-(1D), (C)-(1), (D)-AV)
(2) (A)-), (B)-(D), (CO-(IV), (D)-(I)
(G) (A0, (B)-(ILL), (O-(IT), (D)-{IV)

)-
(#)  (A)-(m), B)-(D), (C-(I), (D)-(IV)

Al:1

A3:3

A4 :4

Objective Question

1015 1015

wizofl (RRB) AL 2494 %14
(1) Regional Rural Bharat
(2) Ration Rural Bharat
(3) Regional Rural Bank
(4) Rural Regional Bank

Al:1

A2:2
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A3:3

A4 :4

Objective Question
1016 1016 4.0 1.00

-

“lA sl YA erad s, Psednigl sre sl
(A)  aed o YURPIL A 530 5241 53

B) el olanl (sl ol dgpe A ¢,

(Q)  edisy Ysaal 2l W yalhd (Bl SRame 4 ed.

(D) [EEwglsael, 2uadon, »i4 [Geell 2sdi 3 vl sudl 2ulEs Fsmel wdion (Ao [Rasi
(E) el vzl dedl 2uss s3cti Hizn sils/ 44l aaal oM,

A2 el [Bseurmisl Al sealiel wus 52

(1) a(A) 21 (©

(2)  &a(C) 2 (E)

(3) &5 (B) ¥4 (D)

@) s (A) =4 B

Al:l
A2:2
A3:3
Ad:4

Objective Question

10171017 4.0 [1.00
This method is widely used for drawing isometric circles :

(1) Four centre method
(2) Two centre method
(3) Five Centre method
(4) Three Centre method

Al:l
A2:2
A3:3
Ad:4

Objective Question

10181018 4.0 |1.00
projection needs a single scale to measure along each of three axes :
(1) Oblique
(2) Dimetric

(3) Isometric

(4) Perspective
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Al:1

A2:2

A3:3

Ad:4

Objective Question

10191019

Choose the correct statement for the given figure of isometric projection :

0 L
ISOMETRIC PROJECTION

Pentagonal face of pentagonal pyramid is parallel to H.P.

One of the rectangular faces of pentagonal prism is parallel to V.P.

Pentagonal faces of pentagonal prism are perpendicular to H.P.

Objective Question

1020 /1020
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)
)

(3) One of the rectangular faces of pentagonal prism is perpendicular to V.P.
)

4.0

4.0

1.00

1.00
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Choose the correct statement for the isometric projection of the given figure :

ISOMETRIC PROJECTION

(1) Axis of the cylinder is perpendicular to H.P.

(2) Axis of the cylinder is perpendicular to V.P.

(3)  Axis of the cylinder is parallel to both H.P. and V.P.

(4) Axis of the cylinder is parallel to V.P. and perpendicular to H.P.

Objective Question
10211021 4.0 |1.00
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Choose the correct statement for the given figure :

e

LAY

g %{

ISOMETRIC PROGJECTION

) Common axis of both solids is parallel to FLP.

) Common axis of both solids is perpendicular to V.P.

) Common axis of both solids is perpendicular to H.P.

) Common axis of both solids is inclined at 30° angle with H.P.

Objective Question
1022 /1022 4.0 1.00
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Total Isometric height of the given combination of solids is . (approximately)

(1) 88 mm
(2) 80 mm
(3) 70 mm
(4) 110 mm

Al:1

A3:3
A4 :4

Objective Question
10231023 4.0 |1.00
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Choose the correct statement for the given figure :

ISOMETRIC PROJECTION

(1) Axis of triangular prism is perpendicular to V.P. and axis of hemisphere is perpendicular to
H.P.

(2) Axis of both solids are perpendicular to H.P.

(3)  Axis of hemisphere is perpendicular to H.P. and axis of triangular prism is parallel to both
HP. and V.P.

(4) Axis of hemisphere is perpendicular to V.P. and axis of triangular prism is parallel to V.P.
Al:1
A2:2
A3:3

A4 :4

Objective Question
1024|1024 4.0 [1.00
The approximate height/thickness of the head of the square headed bolt is if ‘d” is the

nominal diameter of bolt.
(1) d

(2) 1.5d

(3) 0.8d

(4) 2d

Al:1

A2:2
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A3:3

A4:4

Objective Question
10251025

4_Live_NCET_GUJ_801-1200.html

Choose the correct statement related to ‘chamfering’ done in a nut :

(1)
(2)
3)
(4)
Al:1
A2:2
A3:3

A4 4

Objective Question
1026 1026

Chamfering is done at an angle of 30° with the base of nut
Chamfering makes a hole on top surface of nut

Chamfering is done to increase sharpness of corners
Chamfering is done to provide smooth surface for plain washer

In Metric screw thread (External), while drawing Crest and Root,

(1)
)
()
(4)
Al:1
A2:2
A3:3

A4 :4

Objective Question
10271027

In conventional representation of internal V-threads,

both crest and root are drawn round
both crest and root are drawn flat

crest is made flat and root is made round
crest is made round and root is made flat

view.

(1)
()
3)
(4)
Al:1
A2:2

A3:3

Ad:4

thick complete circle
thin complete circle
thin broken circle
thick broken circle

file:///D:/INCET QP/ZIP/4_Live_NCET_GUJ/4_Live_NCET_GUJ_801-1200.html

represents the crest in the side

4.0

4.0

4.0

1.00
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Objective Question

1028 1028 4.0 1.00
A is a cylindrical piece of metal having threads at both ends.
(1) stud
(2) rivet
(3) Dbolt
(4) rod
Al:1
A2:2
A3:3
A4 4
Objective Question
10291029 4.0 |1.00
In top view of a vertical rivet, two complete circles are visible.
(1) snap head
(2) 60° CSK head
(3) flat head
(4) pan head
Al:1
A2:2
A3:3
A4 4
Objective Question
1030 1030 4.0 1.00
Bearing is used for Linear and Zigzag shaft.
(1) Collared
(2) Bush
(3) Open
(4) Roller
Al:1
A2:2
A3:3
Ad:4
Objective Question
4.0 1.00

1031 /1031
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The purpose of counter-sunk hole in a Bush bearing is
(1) to pour oil for reducing the friction
(2) to provide clearance
(3) tojoin the bush to the base
(4) to increase the speed of shaft
Al:1
A2:2
A3:3

Ad:4

Objective Question

1032 1032 4.0 1.00
It is a wedge shaped piece of mild steel block which is uniform in thickness but tapered in width.
(1) Cotter
(2) Rod
(3) Sleeve
(4) Strap
Al:1
A2:2
A3:3
Ad:4
Objective Question
10331033 4.0 1.00
The cotters are automatically due to extra margin given for the clearance in the rod
and the sleeve, in a sleeve and cotter joint.
(1) enlarged
(2) tapered
(3) adjusted
(4) elongated
Al:1
A2:2
A3:3
Ad 4
Objective Question
10341034 4.0 [1.00
98/163
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Gib is always provided in conjunction with
(1) flange
(2) Dbolt
(3) cotter
(4) rivet
Al:1
A2:2
A3:3

Ad:4

Objective Question

1035|1035 4.0 1.00
The two rods used in Turnbuckle have thread.
(1) opposite handed external
(2) opposite handed internal
(3) Dboth right handed external
(4) both right handed internal
Al:1
A2:2
A3:3
Ad:4
Objective Question
10361036 4.0 |1.00
A gasket in a flange pipe joint is provided between the two flanges to
(1) support the bolts and nuts
(2) align the two flanges
(3) create the gap clearance between two flanges
(4) make a leakproof joint
Al:1
A2:2
A3:3
Ad 4
Objective Question
10371037 4.0 [1.00
99/163
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Choose correct statements while drawing B.S.W. thread profile with [PICH="P"].
(A) Angle between flanks is 55°

(B) Vertical centre lines are separated by distance of P/4.
(C) Both crest and root are round.

(D) Crestis round but root is flat.

(E) Crestis flat and root is round.

Choose the correct answer from the options given below :
(1) (A)and (C) Only

(2) (B) and (D) Only

(3) (C) and (D) Only

4) (D) and (E) Only

Al:l
A2:2
A3:3
Ad:4

Objective Question
1038 /1038

ISOMETRIC PﬂﬂJECTIGN

Select the correct statements for the given isometric projection :
(A) Al triangular faces are parallel to H.P.

(B)  All rectangular faces of prism are parallel to H.P.

(C) All rectangular faces of prism are perpendicular to H.P.
(D) All triangular faces are parallel to V.P.

(E) One of the rectangular face of prism is parallel to H.P.
Choose the correct answer from the options given below :

(1) (A) and (B) Only

(2) (D) and (C) Only

(3)  (A) and (E) Only

(4) (D) and (E) Only

Al:1
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A2:2

A3:3

Ad:4

Objective Question
10391039 4.0 1.00

ISOMETRIC PROJECTION

Choose the correct statements for the given isometric projection :

(A) One base side of the pentagonal pyramid is parallel to V.P. and nearer to the observer.
(B) Axis of hexagonal pyramid is parallel to V.P. and perpendicular to H.P.

(C) One base side of pentagonal prism is parallel to V.P. and perpendicular to H.P.
(D) Axis of pentagonal pyramid is parallel to V.P. and perpendicular to H.P.

(E) Inverted pentagonal pyramid is resting on its apex on H.P.

Choose the correct answer from the options given below :

(1) (A) and (D) Only

(2) (B) and (C) Only

(3) (C) and (D) Only

(4) (D) and (E) Only

Al:l
A2:2
A3:3
Ad:4

Objective Question
1040 1040 4.0 |1.00
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Choose the correct statements for ‘Open Bearing’ :
(A) This Bearing is used at the ends or near the ends of the shafts.
(B) This Bearing is useful for shafts rotating at slow speed.

(C) Oil hole is used to reduce friction in open bearing,.

(D) It has U-shaped cellared bush.

(E) Holes for bolts in bush are elongated towards height
Choose the correct answer from the options given below :

(1) (B) and (D) Only
(2) (A)and (B) Only
(3) (C) and (D) Only
(4) (D) and (E) Only
Al:1
A2:2

A3:3

Ad:4

Objective Question

1041 1041

Match List - I with List - IL.

List - I
(A) Axis of pentagonal prism
(B) Axis of circular slab
(C) Circular face of circular slab

(D) Pentagonal face of prism

List - II

Perpendicular to both H.P. and V.P.

Parallel to H.P.
Parallel to both H.P and V.P.
Perpendicular to H.P.

Choose the correct answer from the options given below :

(1) (A
(2) (Al
() (A
(#)  (AHLV

+ (B)-(1D), (C)-(1V), (D)-()
» (B, (©)-0), (D)-V)
» (B)-(IV), (O-(ID), (D)-(I)
» (B)A(II), (O, (D)-(D)

e vt et

Al:1

A2:2

A3:3

file:///D:/INCET QP/ZIP/4_Live_NCET_GUJ/4_Live_NCET_GUJ_801-1200.html

4.0

1.00

102/163



7/10/24, 7:45 PM 4_Live_NCET_GUJ_801-1200.html
A4 :4

Objective Question

1042|1042 4.0 1.0
Match List - I with List - 1L
List - I List - II
Rivets Standard dimensions (Rivet diameter="d’)
(A) External head diameter of pan head rivet () 0.25d
(B) Head diameter of flat head rivet (I 0.7d
(C) Thickness of head of pan head rivet @ 2d
(D) Head thickness of flat head rivet (IV) 1.6d

Choose the correct answer from the options given below :
(1) (A)(D), (B}-(I), (CO)-(III), (D)-AV)
(2)  (A)-(ID), (B)-(IV), (C)-(I1I), (D)-(T)
(3) (A, (B)-(1), (O(IV), (D)-(I)
(4)  (AIV), (B)(II), (C)-(11), (D)-(I)

Al:1
A2:2
A3:3
A4 4

Objective Question

1043|1043 4.0 1.00
Match List - I with List - IL
List - I List - II
Name of parts Description
(A) Sleeve (I)  One end acts as a fork
(B) Cotter (II)  Acts like a socket
(C) Gib (III) Acts like a temporary fastener
(D) Strap (IV) Acts like a hook

Choose the correct answer from the options given below :
(1) (A)-(D), (B)-(IL), (CO)-(II), (D)-(IV)

(2)  (A)-IV), (B)-(1D), (O)-(1D), (D)-(T)

(3) (A, (B)-(ID), (O)-IV), (D)-()

(#) (A, (B)-(D), (O-1V), (D)-(ID)

Al:1

A2:2

A3:3

A4 4

Objective Question

1044 ||1044 4.0 1.00
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Match List - I with List - II for Flange Pipe Joint

List - I List - II
(A) Flanged pipe (I)  Mostly used for low pressure applications
(B) Circular ring/gasket (I) Cast Iron, Plastic, Wrought Iron, Steel

(C) CL pipes of larger diameter (II) When Pressure is high
not less than 50 mm

(D) Thickness of pipes is increased  (IV) Indian rubber, Canvas etc. coated with red lead
for short length in steps

Choose the correct answer from the options given below :

(1) (A, (B)-(1), (O-1V), (D)-(I)

(2)  (A)-(HD), (B)-(IV), (O)-(1), (D)-(1D)

(3) (A1), (B)-AV), (O)-(1), (D)-(L)

4 (AHIV), (B, (C)-II), (D)~

Al:l
A2:2
A3:3
Ad:4

Objective Question

10451045 4.0 1.00
ldenﬁ_fy the stage of creativity process in which an entrepreneur comes out with viable plan to

give practical shape by collecting raw material, arranging funds, policy making for the
implementation of idea :

(1) Incubation

(2) Verification

(3) Mumination

(4) Preparation

Al:l
A2:2
A3:3
Ad:4

Objective Question
1046 || 1046 4.0 1.00
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Arrange the fU].lOWi_ng stock exchanges according to their year of establishment in a chronological

order
(A) Madras
(B) Delhi

(C) Bangalore

(D) Bombay

(E) OTC exchange of India

Choose the correct answer from the options given below :
(1) (A), (B). (©), (D), (E)

2 @) (A), B), (O (E)

3  (B), (D), (A), (O), (BE)

(“)  (©), (D). (A) (B), (B)

Al:1
A2:2
A3:3
Ad:4

Objective Question

1047 1047 4.0 1.00
“Two heads being better than one”.

Identify the form of organisation which is based upon above statement :
(1) Sole Proprietorship

(2) Partnership

(3) Public Company

(4) Government Company

Al:1

A2:2

A3:3

A4:4

Objective Question
1048 1048 4.0 |1.00
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Match List - I with List - I1.

List - I

(Concept)
(A) Budget (1)
(B) Fixed Assets (1)
(C) Gross Working Capital (1)
(D) Net Working Capital (IV)

4_Live_NCET_GUJ_801-1200.html

List - II
(Feature)

Money invested on these items does not result in direct
cash inflow for the business

Current Capital
Current Assets — Current Liabilities

A quantitative expression of a plan for a defined period of
Hme

Choose the correct answer from the options given below :

(1) (A0, (By-(IL), (C)-(11), (D)-{IV)

2 (AHIV), (BI(1D), (O)-(), (D)-(0)

(3) (A, (B)-1), (C)-(II), (D)-IV)
)

(4)  (A(IV), (B)-(D), (C)-(II), (D)-(ID)
Al:l
A2:2
A3:3
A4:4

Objective Question
1049 1049

Merger of Company X Ltd. with Y Ltd. made the retailer network and depositor base of Y Ltd.
available to X Lid. [derll‘ify the reason for merger between X Ltd. and Y Ltd. on the basis of above

information.

(1) Access to funds

(2) Acquiring a competency
(3) Entry into new markets
(4) Improved profitability
Al:1

A2:2

A3:3

Ad:4

Objective Question
1050 1050
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Match List - I with List - I1.

List - I List - II
(A) HNlumination () Seeding stage
(B) Preparation (II)  Viable plan
(C) Incubation (III) Market research
(D) Idea germination (IV) Subconscious assimilation of information

Choose the correct answer from the options given below :
(1) (A, (B-(IL), (C)-(I1L), (D)-(IV)
(2 (A1, (B)-(1I), (©)-IV), (D)-{)
(3)  (AHLV), (B)-(IIL), (O)(ID), (D)-(©)
(4)  (A)-(I), (B)-(11), (C)-(IV), (D)-(I)

Al:l
A2:2
A3:3
Ad:4

Objective Question

1051|1051 4.0
Human Resources is of paramount importance for the success of any organisation, manpower

planning helps to assess, what kind of people are required, how ma_r{y people are required and
how to procure these required people ? Procurement of “Right person, at right job, at right time”
is the objective of :

(1) Operational Plan

(2) Human Resource Plan

(3) Production Plan

(4) SWOT Analysis

Al:1
A2:2

A3:3

Objective Question

1052 1052 4.0
Match List - I with List - IL
List - I List- I
(A) Individual brand name (I)  Godrej
(B) Family brand name (I} SX4
(C) Corporate brand name (II) Lux
(D) Alpha numeric brand name (IV) Maggi

Choose the correct answer from the options given below :
(1) (A)-(), (B)-(IV), (O)-(I), (D)-(IT)
(2 (A)-IV), (B)-(1I), (C)-(1D), (D)-(0)
(3) (A1), (B}-(II), (CO)-(I11), (D)-(IV)
(4) (A1), (B)-(1V), (O)-(ID), (D)-[0)
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Al:1

A2:2

A3:3

Ad:4

Objective Question

1053|1053

Identify the method of floatation of new issue which involves the direct sale by a company of its

4_Live_NCET_GUJ_801-1200.html

securities to a limited number of sophisticated investors.

(1) Rightissue

(2) Private placement
(3) Offer to employees
(4) Going public

Al:1
A2:2
A3:3

Ad:4

Objective Question

1054|1054

Match List - I with List - IL.
List - I
(A) Issue of more share capital
(B) Franchising, merger, acquisition
(C) Business Format
(D) Conglomerate

List - II

(I) A type of franchising

(I) A type of merger

(IlI) Source of internal expansion

(IV) Forms of external expansion

Choose the correct answer from the options given below :

(D) (A, (B)-(IV), (O-1), (D)-(I)
(2 (A)(), (B)-(LV), (O, (D)-(D)
() (A)HIV), (B(IL), (1), (D)(I)
(4) (A1), (B-(I), (O-(1D), (D)-()
Al:1
A2:2

A3:3

A4 :4

Objective Question

1055 1055
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Ms. Priyadarshini started her coaching institute to teach Konkani language. She named her institute

“The Konkani Platform” and made a symbol ® for easy identification by viewers. The name of
institute is short, simple and easy to pronounce and the symbol is noticeable, easy to recognise and
remember and also linked to the service provided by the institute. After two months of startup, this
has given legal protection.

Identify the component of product mix explained in above case :

(1) Branding

(2) Labelling

(3) Packaging

(4) Marketing

Al:1
A2:2
A3:3
Ad:4

Objective Question

1056|1056 4.0 1.00
Match List - I with List - II.
List- I List - I1
(sources of sensing an opportunity) (basic idea)
(A) Problems ()  New products/services leads to new business opportunities
(B) Change (I) Add value to existing products/services
(C) Inventions (Il) Leads to new opportunities to start a business
(D) Innovation (IV) It emerges as a business opportunity

Choose the correct answer from the options given below :
(1) (AHIV), (B)(D), (C)-(ID), (D)~(IM)
(2)  (A)IV), (B)-(II), (C)-(I), (D)-(I)
(3)  (A)-(V), (B)-(1), (C)-(I1T), (D)-(IT)
)

(4)  (A)-(D), (B)-(II), (C)-(I), (D)-(IV)
Al:l
A2:2
A3:3
A4:4

Objective Question
1057|1057 4.0 1.00
“This part of a brand which can be vocalized” Identi_fy the component of brand discussed.

(1) Trade mark
(2) Brand name
(3) Brand mark
(4) Brand label

Al:1

A2:2
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A3:3
A4 4

Objective Question
1058|1058 4.0 |1.00
Why private company is more desirable ? [dentify the correct option.

(A) Only two members required to form this entity

(B) Implied authority to act on behalf of others

(C) Utmost good faith on each other for any decision

(D) Can commence its business immediately after incorporation
(E) Mutual agency to complete the given task

Choose the correct answer from the options given below :

(1)  (A) and (D) Only

() (®), (O and (E) Only

(3) (A), (B) and (C) Only

(4) (B), (©) and (D) Only

Al:l
A2:2
A3:3
Ad:4

Objective Question
10591059 4.0 1.00
Annual quanuty of jeans sold by a shop is 1200 at the rate of ¥ 100 per month. Cost of placing an

order and receiving goods is 5[]{}/- per order. Inventory helding cost is ¥ 30/- per annum. What
is the Economic Order Quantity for the shopkeeper ?

(1) 150 jeans

(2) 250 jeans

(3) 100 jeans

(4) 200 jeans

Al:1
A2:2
A3:3
Ad:4

Objective Question
1060 1060 4.0 |1.00
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Arrange the following elements of Merger and Acquisition in a proper sequence.
(A) Due Diligence

(B) Drawing up documentation

(C) Generating ideas

(D) Valuing companies

(E) Identifying potential partner

Choose the correct answer from the options given below :
(1) (A, (B), (©), (D), (B)

(2 (B, (D) (©), (B), (A)

(3)  (©), (D), (B), (B), (A)

(4) (B). (C) (D), (E), (A)

Al:1
A2:2
A3:3

Ad:4

Objective Question

1061 /1061

Rupapshi started a bakery for manufacturing healthy bakery items. She invested ¥ 1,00,000 of her
own. She formulated a detailed plan describing planning details that are needed by management.
Identify the format of a business plan prepared by Rupapshi.

(1)  Elevator pitch

(2) A pitch deck with oral narrative

(3) A written presentation for external stakeholders

(4) An internal operational plan

Al:1
A2:2
A3:3

Ad:4

Objective Question

1062 /1062

Arrange the followi_ng steps of Innovation process in proper order.

(A)  Applying the resources in order to accomplish the plans

(B) Provision of value to customers, reward employees and satisfy the stakeholders
(C) Carefully identify the features, design, resources required for product/ service
(D) Obtaining of resources, physical, human and financial resources

Choose the correct answer from the options given below :

(1) (©, (D), (A) (B)

(2 (©) (A) (D), (B)

(@) (A ®), (), (D)

(4) (DO (©.(B), (A)

Al:1
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A2:2
A3:3
Ad:4

Objective Question
1063 1063 4.0 1.00
Identify the source of finance which involves affluent individual who provide capital for a business

start up and early stage companies.
(1) Venture capitalist

(2) Financial institution

(3)  Angel investors

(4) Banks

Al:1
A2:2
A3:3
A4 4

Objective Question
1064 1064 4.0 1.00
Arrange the following activities to be performed in operating cycle of trading business in proper

sequence.

(A) Stocks of good

(B) Cash paid

(C) Debtors

(D) Sales

Choose the correct answer from the options given below :
(1} (B, (A), (D), ©)

(2 A (D) (©) (B)

3) (A, (B), (O), (D)

(4) (B), (D), (©), (A)

Al:l
A2:2
A3:3
Ad:4

Objective Question
1065 |/ 1065 4.0 1.00
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Arrange the steps for preparing marketing plan in proper sequence.
(A) Identify the target market

(B) Implementation and monitoring of the plan

(C) Business situation analysis

(D) Defining marketing strategy

(E) Conduct SWOT and Establish goals

Choose the correct answer from the options given below :
(1) (A) (B), (B), (), (D)

(2) (D) (E), (O, (B), (A)

@) (©, (A) (E), (D), (B)

(4) (©) (A), (B), (B), (D)

Al:l
A2:2
A3:3
Ad:4

Objective Question

1066 1066
Identify the type of franchise in which a company provides a business owner with a proven method

for operating a business using the name and trademark of the company.
(1) Product franchise business opportunity

(2) Manufacturing franchise opportunity

(3) Business franchise opportunity

(4) Business format franchise opportunity

Al:1
A2:2
A3:3
Ad:4

Objective Question

1067|1067
The factors which affect micro business environment are :

(A) Suppliers

(B) Life style changes

(C) Customers

(D) General public

(E) Competitors

Choose the correct answer from the options given below :
(1) (A), (C) and (D) Only

(2) (B), (C) and (D) Only

(3) (A), (C), (D) and (E) Only

(4) (B), (C) and (E) Only

Al:1
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A2:2
A3:3
Ad:4

Objective Question
1068 | 1068 4.0 |1.00
Mr. S. Chopra spent ¥ 5,00,000/- to open a play area for children of age group of 3-10 years and
make a net profit of ¥ 20,000 in one year. Annual return on investment for this play area is :
(1) 4%
(2) 40%
3) 2%
(4) 20%

Al:1
A2:2
A3:3
A4:4

Objective Question
1069 1069 4.0 1.00
A franchise agreement is the legal document that binds franchisor and franchisee together. Identify

from the following, the main ingredients of franchise agreement.
(A) Contract explanation

(B) Operational manual

(C) Product acceptance

(D) Ongoing site maintenance

(E) Proprietory statement

Choose the correct answer from the options given below :
(1) (A), (B), (C) and (D) Only

(2) (A), (B), (D) and (E) Only

(3) (A), (B), (C) and (E) Only

) (B), ), (D) and (E) Only

Al:l
A2:2
A3:3
Ad:4

Objective Question
1070 (/1070 4.0 1.00
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Which of the following statement is not true for “FUNDING”, as venture capitalists who are
typically very selective in deciding what to invest in :

(1) Looks for extremely rare, yet sought after qualities

(2) They may invest is one in four hundred opportunities

(3) Looks for “exit” in the time 3-7 years

(4) They fill the gap in startup financing between friends and family

Al:1

A2:2

A3:3

Ad:4

Objective Question

10711071

Items used directly in calculation of Return on Investment (ROI) are :

(A) Debtors

(B) Net profit

(C) Owners funds
(D) Borrowed funds
(E) Inventory

Choose the correct answer from the options given below :

(1) (A) and (E) Only
(2) (B) and (C) Only

(3) (B), (C) and (D) Only
(4) (A) and (D) Only
Al:1

A2:2

A3:3

Ad:4

Objective Question

1072 /1072

file:///D:/INCET QP/ZIP/4_Live_NCET_GUJ/4_Live_NCET_GUJ_801-1200.html

Below the line methods are very specific memorable activities focused on targeted groups of
customers. Identify which of the following promotional tools are used under below the line method

of promotion.
(A) Sponsorship
(B) Personal selling

(C) Television and cinema advertising

(D) Sales promotions
(E) Print advertising

Choose the correct answer from the options given below :

(1) (C) and (E) Only
() (A), (B) and (C) Only
(3) (A), (B) and (E) Only
(4)  (A), (B) and (D) Only
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Al:l
A2:2
A3:3
Ad: 4

Objective Question
107311073 4.0 |1.00
‘Nainsukh” was a painter of Kangra sub school of paintings, which among the following is his

work :

(1) Kabir and Raidas

(2) Krishna with Gopis

(3) Nand, Yashoda and Krishna with kinsmen going to Vrindavan.
(4) Nayaka and Nayika

Al:l
A2:2
A3:3
Ad:4

Objective Question

1074|1074 4.0 |1.00
Nigaar Khana (pai_nting workshop) was part of a library, founded by which of the following
Mughal ruler ?

(1) Akbar
(2) Humayun
(3) Babur

(4) Aurangzeb
Al:l
A2:2
A3:3
A4 4

Objective Question

1075 /1075 4.0 |/1.00
The family of which of the following artist worked at many centres and are responsible for developing

finest examples of Pahari paintings ?

(1) Miskin
(2) Mir Syed Ali
(3) Guman

(4) Nainsukh

Al:1
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A2:2

A3:3
Ad:4

Objective Question

1076|1076 4.0 1.00

Which one is the characteristic feature of Western Indian Miniature painting ?
(1) Use of pastels and dull colours

(2) Deep interest in depiction of ornaments

(3) Concept of ‘Further eye to show three dimensionality of the face’.

(4) Depiction of themes related to Buddha.

Al:1
A2:2
A3:3
Ad:4

Objective Question

1077|1077 4.0 |1.00

Who coined the term ‘Rajput Paintings’ to categorize and differentiate this group from Mughal
School of Painting ?

(1) G.R. Santosh

(2) Anand Coomaraswamy

(3) Rabindranath Tagore

(4) BN. Goswamy

Al:l
A2:2
A3:3
A4 4

Objective Question

1078 /1078 4.0 1.00

The painting ‘Raga Dipak’ of Chunar Ragmala belongs to which sub-school of Rajasthani School
of Painting ?

(1) Bundi School

(2) Mewar School

(3) Kota School

(4) Jodhpur School

Al:1
A2:2

A3:3
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A4 :4

Objective Question

1079|1079 i : AT . 4.0 |1.00
The artist, who was influenced by the folk paintings of Kalighat, Bengal ?
(1) Abanindranath Tagore
(2) Jamini Roy
(3) Amurita Sher-Gil
(4) ML.F. Husain
Al:1
A2:2
A3:3
A4 4
Objective Question
1080|1080 4.0 |1.00
Who is the artist of painting ‘Journey’s End’ ?
(1) Abanindranath Tagore
(2) Nandalal Bose
(3) Rabindranath Tagore
(4) Amrita Sher-Gil
Al:1
A2:2
A3:3
Ad 4
Objective Question
1081 1081 4.0 |1.00
Who is the painter of ‘Rama meets members of his family at Chitrakut” ?
(1) Nihal Chand
(2) Guman
(3) Nainsukh
(4) Sahibdin
Al:1
A2:2
A3:3
Ad:4
Objective Question
1082 /1082 4.0 |1.00
118/163
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Who was the founder of ‘Calcutta Group’ in 1943 ?

(1) Prodosh Das Gupta
(2) ML.F. Husain

(3) H.A. Gade

(4) S.H. Raza

Al:1
A2:2
A3:3

Ad:4

Objective Question

1083 | 1083

‘Krishna Embracing Gopis’ miniature painting from Gita-Govinda is related to which sub-school
of Pahari school of miniature painting ?

(1) Kangra
(2) Bundi
(3) Guler

(4) Basohli

Al:1

A3:3

A4 :4

Objective Question

1084 /1084

Who was the artist, avoided traditional medium of sculpturing like marble, wood or stone and
preferred cement for creating his sculpture that speaks of a family migrating from one region to
another, carrying all their frugal possessions ?

(1) Debi Prasad Roy Chowdhury
(2) Ramkinker Baij

(3) Amarnath Sahgal

(4) P.V. Janakiram

Al:1

A3:3

A4:4

Objective Question

1085 /1085
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Name the artist who was responsible for the spread of Indian Art to South India ?
(1) Benoy Sarkar

(2) Jamini Roy

(3) Amrita Sher-Gil

(4) K. Venkatappa

Al:l
A2:2
A3:3
Ad:4

Objective Question

1086 | 1086 4.0 |1.00
Which of the following painting is made by Abanindranath Tagore ?
(1) Women with Child
(2) Journey’'s End
(3) Cily in the Night
(4) Tiller of the Seil
Al:1
A2:2
A3:3
Ad:4
Objective Question
10871087 4.0 1.00
Who among the following was a British Administrator and Principal of the Calcutta School of
Art?
(1) Rabindranath Tagore
(2) Nandalal Bose
(3) M.A. R. Chughtai
(4) E.B. Havell
Al:1
A2:2
A3:3
Ad 4
Objective Question
4.0 [1.00

1088 | 1088
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Company painting is a combination of traditional style with which of the following ?
(1) Persian Style

(2) European Style

(3) Mughal Style

(4) Rajput Style

Al:l
A2:2
A3:3
Ad:4

Objective Question

1089|1089 4.0 1.00

Paint brushes for Rajasthani painting were made using the hairs from the tails of which of the
following animals ?

(1) Camel and Cat

(2) Camel and Squirrel

(3) Camel and Hog

(4) Camel and Dog

Al:1l
A2:2
A3:3
Ad:4

Objective Question

1090 |1090 4.0 |1.00

Famous poem ‘Gita Govinda" was written by which poet that became an integral theme for
Rajasthani School ?

(1) Javadeva

(2) Rahim

(3) Madhoe Das

(4) Ashwin

Al:l
A2:2
A3:3
Ad:4

Objective Question

1091 1091 4.0 |/1.00
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In which of the following school of miniature painting, the painting of Shrinathji (Krishna as
Shrinathji) was made ?

(1) Mughal

(2) Deccan

(3) Rajasthani

(4) Pahari

Al:1
A2:2
A3:3
A4 :4

Objective Question

1092 1092 4.0 1.00
Arrange the following artists in chronelogical order from earliest to latest :
(A) Dana
(B) Mansur
(C) Miskin
(D) Mir Sayyid Ali
(E) Bihzad

Choose the correct answer from the options given below :
(1) (©), (D), (E), (A), (B)
(2 (A) (B), (Q), D) (E)
(3) (D), (C), (B), (A), (E)
(4) (B). (D), (O, (B), (A)

Al:1
A2:2
A3:3
Ad:4

Objective Question
1093 1093 4.0 1.00
Arrange the following steps in sequence followed in the making a Mughal Miniature paintings :

(A) Master artist makes the finishing touches.

(B) Outline is sketched with black and brown colour.

(C) Thin sheets of handmade paper are glued together.

(D) The painting is burnished with an agate.

(E) Filling of colour pigment and applying precious metals like gold and silver.
Choose the correct answer from the options given below :

(D) (B, (©) (D), (A) (E)

2 (A (B), (D), (©) (B)

@) (B, Q) (D), (B), (A)

@) © (B) (E) (D), (4)

Al:1
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A2:2
A3:3
A4 :4

Objective Question
1094 1094 4.0 1.00
Arrange the following paintings in chronological order from the earliest to latest :

(A) Chand Bibi Playing Polo (Chaugan), Golconda.

(B) Woman with Child, Jamini Roy.

(C) Chaurpanchasika, Mewar.

(D) Triumph of Labour, D.P. Roy Chowdhury.

(E)  Whirlpool, Krishna Reddy.

Choose the correct answer from the options given below :
(1) (&), (D), ©), (B) (B)

@ (©,(A), @), D) B

@) @A) (B), (©), D), (E)

@) (B), (O (D). (A) (E)

Al:1
A2:2
A3:3
A4 :4

Objective Question
10951095 4.0 1.00
Identify the artists among the following who made the ‘Progressive Artists Group’ at Bombay

(Mumbai) under the leadership of Francis Newton Souza.
(A) M.F. Husain, S.A. Bakre

(B) KH. Ara, H.A. Gade

(C) S.H. Raza

(D) Ram Kumar, Satish Gujral

(E) G.R. Santosh

Choose the correct answer from the options given below :
(1) (A), (B) and (C) only

(2) (A), (D) and (E) only

(3) (A), (B) and (E) only

(4) (B), (D) and (C) only

Al:1
A2:2

A3:3
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Objective Question

1096 | 1096

Choose the correct themes which delineated in different schools of Pahari Painting :

(A) Baramasa

(B) Shangri Ramayana
(C) Fairy Tales

(D) European Art themes
(E) Bhagvata Purana

Choose the correct answer from the options given below :

(1) (A), (C) and (D) only
(2) (B) and (C) only

(3) (A), (B) and (E) only
(4) (A) and (B) only
Al:1

A2:2

A3:3

A4 4

Objective Question

1097 1097

Identify the artist and the title of the painting.

(A) Farmer with Cow
(B) Nandalal Bose
(C) Jamini Roy

(D) Farmer in Village
(E) Tiller of the Soil

Choose the correct answer from the options given below :

(1)  (B) and (A) only
(2) (C) and (D) only
(3)  (B) and (E) only
(4) (C) and (E) only

Al:1
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A2:2

A3:3

A4 :4

Objective Question

1098 | 1098

Match List - I with List - I1.

List - I List - II
(A) Kshitindranath Majumdar (I) Dhaki
(B) M.A.R. Chughtai (I) Raslila
(C) Nandalal Bose (IIl) City in the Night
(D) Gaganendranath Tagore (IV) Radhika

Choose the correct answer from the options given below :
(1) (A)D), (B)-(L), (C)-(II1), (D)-(IV)

(2) (A1), (B)-(D, (O-1V), (D)-()

(3) (A, (B)-(11), (©)-(1), (D)-(IV)

4)  (A)-(ID), (B)-(IV), (O)-(I), (D)-(III)

Al:1

A2:2

A3:3

A4 4

Objective Question

1099 /1099

Match List - I with List - I1.

List - I List - II
(A) Children (I) Krishna Reddy
(B) Of Walls (II)  Jyothi Bhatt
(C) Devi (ITII)  Anupam Sud
(D)  Whirlpool (IV) Somnath Hore

Choose the correct answer from the options given below :
(1) (A1), (B)-(I), (C)-(IlI), (D)-(IV)

(2 (A1), (By-(I1), (CO)-(111), (D)-(1V)

()  (AHIV), (B)-(IW), (O)-(II), (D)-(T)

(4) (A, (B)-(IV), (O)-(I), (D)-(1)

Al:1

A2:2

A3:3

A4 4

Objective Question
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Match List - I with List - IL.
List - I
(A) Rama Vanquishing the Pride of the Ocean
(B) Trimph of Labour
(C) Yuddha Kanda
(D) Hungry Bengal

Choose the correct answer from the options given below :

(1) (A)HIV), (B)-(I), (©)-(IL), (D)-(11)
) (A, (B)-(ID), (O, (D)-(IV)
3)  @A)-1), (B)-D, ©)-@), (D)-IV)
(4) (A, (B)-(1), (OHIV), (D)-(1T)
Al:1
A2:2

A3:3

A4 :4

Objective Question

1101|1101

LR Y3HL AL RYUNIAR o Yo SRELY D T
(1) st 24 el

@ @~

(3) Bl

(4) dux

Al:1
A2:2
A3:3

A4 :4

Objective Question

1102 1102

oAl 2 Garerenigl sy wen sidld udz =8l 7
(1) [eedl

(2) RERllE

(3)  udPRIsY

(4) duHG

Al:1
A2:2

A3:3
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Graphic Print
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Oil Painting

4.0

4.0

4.0
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A4 :4

Objective Question
1103 /1103 ) 4.0 1.00
56 el disvett g2l g0 Geapet HA slsn’ 213 sl el )

(1) ues e syl
(2) (el duerly Al
(3)  Biod danlla dise
(4) =il e syl

A2:2
A3:3
Ad:4

Objective Question
1104|1104 4.0 [1.00
eAliAmigl Avou dBis spelinnul 53 yRon Heead =l 7

(1) L aelud

(2)  =q [

(3) il usulers-20Els grormtd Geain
(4) wletuagen

Al:l
A2:2
A3:3
Ad:4

Objective Question
1105|1105 N i 4.0 1.00
eAliAmigl 58 g2 Grr 230511 e ds Al sts1d 2deell svopld [Raize 2 97

(1) #l bl e dddes Sl

(2) A 24 Des iz 314
(3) UL Bies 29 ey

(4) 4l @ies Sid Srild

Al:1
A2:2
A3:3

Ad:4
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Objective Question

1106 |1106

67 518 VM USRAL s1HE v [Folz Al d Geoid sul Al o] 2ud 7

(1) sz Gelint

(2)  wes-urGan

(3) @y Gelo

(4)  Guolisdl dMR GalsL

Al:1
A2:2
A3:3

Ad:4

Objective Question

1107 |1107

ALkl Aizglis udad Geugrel 4 © 7

(1) %01

2)  allRivted
3) e
(4) sl

_

Al:1

A2:2

A3:3

Ad:4

Objective Question

1108 | 1108

4_Live_NCET_GUJ_801-1200.html

AAlemidl s sicul 2icrudl uyAsidl 2eud 9 7

(1) yed 3o,

(2) el yel AR

(3)  zUeudl 2AEbks oun
(4) Yy

Al:1
A2:2
A3:3

A4:4

Objective Question

1109 || 1109
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AL ML disl Youed 58 ugfopiiul sl €U O ]
(1) wealis B

)  ollsd alafalmi

(3) Al Al

(4) =l alafaleia

Al:1

A3:3
Ad:4

Objective Question
1110 1110 y 4.0 1.00
213 ol widl séA ©.
(1) dlélseur
(2) sdilser
(3) ilseuz
(4) aAdlseun

A3:3
A4 :4

Objective Question
1111 [ 1111 4.0 1.00

Al il sl [Asen unidzd drdl <8l 7
(1) oRlsoudl

(2) geadl2uugl

(3) ool uq Rl

(4)  wild 21 Eaxal

Al:1

A3:3

Objective Question
1112 /1112 4.0 1.00
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WiAdoPlnl 586 vt Bg e © % dide uglasl vicid ueultd © 2 wglds suzad d uml 9dlsiz 97

(1)  uslious

(2)  AMIAAIAIE
(3) [Fiiugloas
(4)  Hinedl

Al:1

A3:3

Ad:4

Objective Question

1113 | 1113

A2t idd] sbu el uglid s34 Yuu wd saL )7
(1) yriEwes, skar, ulizu

(2)  SIHYR, BACIAUE, RISR

(3) 2l sy, selsy, [(Anlyr

(4)  ElALYR, HiSIHL, HPEYR

A3:3

Ad:4

Objective Question

1114 | 1114

SYOUENOLAL 51361 541 L UL D ]
(1)  sEdu

(2) disslu

(3) Ewgladia

(4) wRAMH

Al:1

A3:3

Objective Question

1115 ||1115
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ol wseR sedlle aszuviadl 56 Heul dur 52 87?

(1)
@)
©)
(4)

Al:1

A3:3
Ad:4

Objective Question
1116 1116

Sl 51G[Aud 2105 2iallseiza Rusd

A 2Als B2l

A2ird [l Aradlol e

gl Vzdd s dHels Wl 23

w209 R [Bald (2 ofl 2. sidl opL o )

1)
@)
)
(4)

A3:3
A4 :4

Objective Question
1117 /1117

218 A2l Bant

20, Ryt Bl
A2lrd e MiestiA [Haur
allrt B2t Mgt

G B2l A=Al AU 3] séar 97

1)
@)
)
(4)

Al:1

A3:3

Ad:4

Objective Question
1118 /1118

wicfes AUz
wlfAs AR
ofl8d AUz
idzRpd duR
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A [SRetiRul sue el [diar datial aridl cqszad 3] séamt 2ud 87
(1) g

(2)  uARd cqazul

(3)  UHE HHRUL

(4)  2ieg ML

Al:1

A3:3
Ad:4

Objective Question

1119 1119 4.0 1.00
sl 22l HesiRl vidl il g wsn udioL Hiloid 2l 97
(1) o
(2) teuls

(3) e
(4)  otiddgal

Al:1

A3:3
A4 :4

Objective Question

1120 1120 4.0 1.00
Yall - 14 2l - 11w wndl
yall - 1 yaul - 1
gald HUS g2l
(A) [Bsell @O 5l
(B) 2iRi-al (1) sduled
(Q) 2 (1 =l
(D) sl (IV) 2,

Al 2l Cseuimial wil Gz sl

(1) (A)HD, (B)-(IV), (C)-(1T), (D)-(11I)
(2)  (AHD, (B(ID), (O)-(II), (D)-(IV)
(3)  (A)HIV), (B)-(ID), (O)-(11I), (D)-(D)
@) (A)AIV), (B)-(I), (C)-(II), (D)~(11I)

Al:1

A2:2
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A3:3
A4 :4

Objective Question
1121 11121 ‘ ) R 4.0 1.00
Bl-gL el s gzietl Sl 2ia uecayel [@xal sl su breami »uad © 7

(A)  sHdHR
(B) [isiAz

(C) sy
Dy %
(E) Geuayz

Al 2aL [Eseqimigl wiml Gz gidl
(1)  #5t(A), (B) »i (B)
(2) #5 (B), (Q) =i (D)
(3) 5t (B), (D) i (A)
(4)  #5ct(A), (B) i (D)

Al:l
A2:2
A3:3
Ad:4

Objective Question
1122 11122 5 5 4.0 1.00
aefluis Al wizeil sl8vel euzdla 2iseiml Alzimisl s wsHl vidl a9 7

(A) vl

(B) &g

(C) €

(D) weuil

(E) ud

Al i Fsedimisl wiml Gz ikl
(1) 35t (A), (B) #i (©

(2) #5(A), (B) i (D)

(3) %5t (Q), (D) it (B)

(4)  #5t (B), (C) 2t (E)

Al:1
A2:2

A3:3
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A4 :4

Objective Question

= g vl 9y, sl sl Al=q adid on 2011 L sreiateinr Wuel dl dadlss Yseot Garaisi sllsal. N
(A)  [eeell
(B) Sl
© s
(D) A=d

Al 2 fisermial “i=l Gz il

(1) (&) ©, (D) (B
2 (A) D) (©) (B)
@) © (A) (B) (D)
@) @) (A) (B), ©)

Al:1
A2:2
A3:3
A4 4

Objective Question
1124 /1124 4.0 |1.00

-

Al migdl s 2l euzdl M gL 9B Gslezell 997
(A)  uellis

(B) [eend
(C)  Beral
(D) il

(E) 2letdl

N

Al 204 [asediniddl sl [Bsey 2l
(1) 55 (A), (B) =1 (O

@) s (A), (O, (D) - (E)

(3) %L (A), (B), (D) - (E)

(4)  $5(A), (B) 2 (D)

Al:1
A2:2
A3:3
A4 :4

Objective Question
1125|1125 4.0 1.00

file:///D:/INCET QP/ZIP/4_Live_NCET_GUJ/4_Live_NCET_GUJ_801-1200.html 134/163



7/10/24, 7:45 PM

yall - 14 yall - 11w wndl

yall - 1

LS HE AL

Wl 2alds A
(A) dgbL (0
(B) cuus (In)
(Q) 4l (IIT)
(D) =4 (V)

Al 2ial Eseuimigl 2en Gz gl
(1) (A)-(D), (B)-(II), (C)-(1), (D)-(IV)
(2)  (AHD, (By-(IT), (O)-(II), (D)-(IV)
(3) (A, (B)-(D), (OHLV), (D)-(1I)
4)  (A)-(I), (B)-(IV), (O)-(1), (D)-(I)
Al:1

A2:2

A3:3

Ad:4

Objective Question

1126 | 1126

-

Yl - 1yl - 01w wadl

4_Live_NCET_GUJ_801-1200.html

yaul - 1
gaL/ 8

ASens
MIRct
FeslelElaL
sldst

yal - 1 ¥l - 11
da sid-Rl AU
(A) oidl () szl
(B) duidliz (D) 2
(Q) Siudl n  [eer
(D) cicdluist (V) 2svd

Al 2 e Eseqimigl wiel Gz siial
(1)  (A)-(II), (B)-(1I), (C)-(), (D)-(IV)
(2) (A, (B)-(IV), (O, (D)-(D)
(3)  (A)-(I), (B)-(IV), (O)-(L), (D)-(IT)
4) (A, (B)~(1D), (C)-(1V), (D)-(I)
Al:1

A2:2

A3:3

Ad:4

Objective Question

1127 ||1127
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AlziAl su1 GELR Ol §HoUlss /AR HERAL S 7

(A) SR
(B) RUzréH
(C) i

(D) [Rewyg

(E) stu-gat

A2 2l Esedimisl el G il
(1)  #5(A), (B) »i1 (©

(2) #5t (B), (C) i ()

(3) g5t (B), (D) i (B)

) st (A), (O 2 (D)

Al:1
A2:2
A3:3

Ad:4

Objective Question

1128 | 1128

WiAA513 YAS2US AL 53 2023 Yorol 12l Bl GeRetl $3 oLl :
(A) ®l&d

(B) et

(C)

(D) #ldst

(E) “ivaizal

Al 2ren Fseumigl wizl Gu il
(1) (©), (D) (B), (E), (A)

2 (©, (B) (A), (D), (E)

(@) (B), (O, (D), (A), (E)

4 (B), (D) (A), (O), (E)

Al:1
A2:2
A3:3

Ad:4

Objective Question

1129 /1129
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600 BCE €234l «{l2-mizl sul ugl Guation woli giollaiidl [Baun uygne siamal 42 Udl ¢l 7
(1) da

(2) sudl

G &

(4) el

Al:1

A3:3
Ad:4

Objective Question
1130 1130 " . e _\ 4.0
B SULT AL s Sl )

(1) Bl a
) [l 7l
(3)  wGrgrim 2z
) il g

1.00

Objective Question
1131 1131 4.0 1.00

[Beratorz 2t s 2l ¢snil “Hll BzwasAl” udlall 59 @AM ek wsami =ugdl ¢d?
(1) dbia

2) 93
(3) =l
(4) Rl

Al:l
A2:2
A3:3
Ad:4

Objective Question

11321132 4.0 |]1.00
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eAlaaeiddl sy [Benq 2z 2l

(1) [lenav weur, szd viaaied sedl woid Yol uz 2usREdL QuIel 9.

(2)  Bleidvl i szdaul delod auiell 9.
(3)  %edis Riadviiml il € s,
(4) el Ridvl el gl

Al:1

A3:3

Ad:4

Objective Question

1133|1133

e, 1922 A wetent Al 2eadl wlaemt wp 2weElid s g ed 7
(1)l ogales

@) dlp g

(3) Awu

(4) el e

Al:1

A3:3

Ad:4

Objective Question

1134|1134

58 astd gl Baltuidin WGz 2uey ol 2wl )
(1)  vidl-sllw yea

(2)  Pdl-AY Yl

(3)  olrvl 3ed

(4) -l Y4

Al:1

A3:3

Ad:4

Objective Question

1135 ||1135
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(1)
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Al:1

A3:3
Ad:4

Objective Question
1136 1136
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9oL lsemeril 2 mell-eiizl 33 28U €U 9 ]

1)
@)
)
(4)

Al:1

A3:3
A4 :4

Objective Question
1137 1137

1841 el 2Ad chunni seflAgRin (@il 2l Wrdlrt 4L Amel 2omaml 208 gt

(1)
@)
©)
(4)

Al:1

A3:3

Ad:4

Objective Question
1138 /1138
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30 sget, 1857 Ui Rirtee-dl dsidul 2idledd s161 grieu ¢t ?
(1) =lirdl ¥

(2)  oRd Hed

(3)  ACHECALS 2

(4) abie

Al:1

A3:3
Ad:4

Objective Question

1139 1139 . 4.0 |1.00
95l 21 2l el (BCE) gvauin 53 uéisy-ue el aare ulsazuotl ¢d 7
(1) wam
(2) SlaA
(3) e
@ &
Al:1
A2:2
A3:3
Ad:4

Objective Question
1140 1140 ) 40
eAlaiArniddl sl iy BB o BRE B ¢d

(1)  3gE
(2) dg

(3) @i

(4) yasll-1

1.00

Al:1

A3:3

Objective Question

1141 1141 4.0 |]1.00
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s B Alaamisl 58 wsle (sradldl) G5dl )
(1) eariEl

(2)  cusll 2 w3l

(3) g

(4) UREL

Al:1

A3:3
Ad:4

Objective Question
1142|1142 4.0 1.00
Al ol gsvuid 534 290 oSl Gewed 2 o wulia ¢d)?

(1)  2-gesl

() sidleisu

(3)  Hler-ed-321 (AledntEsl)
(4) oseudl

A3:3
A4 :4

Objective Question
1143 1143 4.0 1.00
AlziAruiddl sul [Asey seula 2= = gxladl «8l?

(1) aufardl 3w
(2)  Arialel wilas
(3) sl quEl

(4) sreusl sl

Al:1
A3:3

Objective Question
1144 1144 4.0 |1.00
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1240l i, 1930 i sy “Hlg/eans g2 suiddl 23 28 )

(1) eisl
(2) &
(3) «dl

(4)  *oRHdl

Al:1

A3:3
Ad:4

Objective Question

1145|1145 4.0 1.00

i[FRUZLs Azl UL sl gL sami 2l 7
(1) diésidaidlu

(2) 2 [Edlm sty

(3) difadwdl

(4) iRl

Al:1

A3:3
A4 :4

Objective Question

1146 | 1146 4.0 |1.00

GUELLLSHIMIAL EVs 5181 gl )
(1) 294 sud

(2) 2054 s1Ed HElaHl

(3) oga ¢dle aldizl

(4)  welHE Ay

Al:1

A3:3
Ad:4

Objective Question

1147 1147 4.0 |]1.00
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Al misd]l s 208l Azl yaeuil qoil 201 9 7
(1)  sidloisn

(2) elidag

(3) diadla

(4) dad

Al:1

A3:3
Ad:4

Objective Question
1148 | 1148 ) 4.0 1.00
eAl2L el 2GRl AL LA 2l

(A)  siddlld 51 sl

(B)  wsvell-dl sasizl [Eeal viatseusi 2udl
(C)  elisoial] 2su-l 364

(D) elisel YRafdl-l 2a- ud

(B) gl vl s1343 9y

ofl2 20 [Csedinisdl] Aoy Bsey waie sl :

1) (B), (©), {D) (E), (A)
@) (D) (A) (B). (E)
3) (A (D), (B)( ), (E)
4) (A), (O, (D), (B), (B)
Al:1l
A2:2
A3:3
Ad:4

Objective Question
1149 || 1149 4.0 1.00
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(C)  uiEld el

(D) HYH Y

() siedleiuq s

A2 201 [Eseainidl dioy (e wis 530
(1 (A (B) (©), (D), (E)

2 (A) (©), (D), (B), (B)

(3 ©, (A), D), (B), (E)

) (B), (D) (A), (O, (E)

Al:1
A2:2
A3:3

Ad:4

Objective Question

1150 | 1150

-

efl2L 2ol 2] veARlid sidlqsy olisdl.

(A) i Hisieeil 2id

(B) 2Pt 2wtdeinl Gey

(C)  slavsel wusedllGns

(D) S 2AA8BL-63 2sHEL
(B) s@llesul wgsdiql G

Al 2 [l Qe [Ssey yaie 530

1) (A (©), B), (E), (D)
2 O (A), ©), (B) (B
(3) (), (D) (©), (A) (B)
4) (D) (©) (A) (E) (B)

Al:1
A2:2
A3:3

Ad:4

Objective Question

1151 1151
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g UL Hrglaul gL 2 Haisddl GurilaL s SIREUHR Udl ¢l 7
(A) o |ARLYUAL HEULHUERA U0 Gl O,
(B) oualaizg we
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(D) o (A6 22zl Wisadiz-l 2ionv el 9.
(E)  #3fryel 2oyt dickign 2usiHl i
fl2 24 e [asedinigl v [[Bsey wais 531
(1) st (A), (B), (O
(2) #a(B) (©) (D)
(@) 8O, (D), B
(4) (A, (O, D)

Al:l
A2:2
A3:3
Ad:4

Objective Question
1152 11152 4.0 1.00
Wil elsadl wivzt (G AlEAminl s Bael aen 9 7

(A) el Mfscril Szl 204 wa3uAl Yod s2eumi 2uadl

(B) [Aofel milsct wiuami [, [Bvgy aoiy el 2uiaA1L AUl gdl

(C) 2zl 2 AR edldctiedl [S21e sl anan »aidl

(D) igie et (3] ooretsedl oisa Hid © 24 delldl *disiul [eyeeiaid uci-l JHeud wsy 4 8
(E)  slesta 20342 Ramisd ¢l 2 daiiza didld 22 aaol 309 20iedl.

A1 e [Bseuimisl vy [Gseu waie 52

(1) #1(Q, D) (E)

(2) 4 (A), (B), (O

(3) #a(B) (©), (D)

(4) &t (A), (D), (E)

Al:l
A2:2
A3:3
Ad:4

Objective Question
1153 11153 4.0 |1.00
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21z 242050 Rieidv Bidl aqumioll sa Badl e §7
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(1) s (A), (B) (©), (B)

(2) % (B), (O), (D), (E)

(3) 5 (A), (O). (D), (E)

(4) #c(A), (B), (O), (D)

Al:l
A2:2
A3:3
Ad:4

Objective Question

1154 1154
gl - 14 el - 11 w8 =48l
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(A) Polaj M Aol 2 o geeiay e sl
(B) Parauti (1) &xe™ vidl svesi 2ue
(C) Chachar (1) LS HHH ARsdd s7Hle
(D) Banjar (IV) iz 220 9ge | [GavsEd sl

Al2L e [seqinial Aoy [asey yis 52l
(1) (A)-D), (B)-(IT), (O)-(II), (D)-(IV)
(2) (A, (B)-(I1D), (C)-(1), (D)-(IV)
(3)  (A)-(1V), (B)-(IID), (O)~(11), (D)-(T)
4 (A1), (B)-(D), (O)-(IV), (D)-()

Al:1

A3:3
A4 :4

Objective Question
1155 1155
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el - 1A Al - 11 B sd sl

el - 1 gl - 11
Usd CE|
(A) yesull-11 M cbundl dsaEd
(B)  HUOUSRAHA M e
(C) ezicsx () ysaeyd-l wéd
(D) “ledld H (IV) Agsatl wilds sia

Al e [sedinial i [asey vaie 531
(D (AAI), (B)-(IT), (C)-(IID), (D)-(IV)
(2) (A1), (B)-(1D), (C)-(IV), (D))
(3)  (A)-(1V), (B)-(IID), (O)-(1T), (D)-(T)
4)  (A)-(D), (B)-(IIT), (C)-(IV), (D)-(IT)
Al:1

A2:2

A3:3

Ad:4

Objective Question

1156 1156
el - 1A wEl - 10 W8 sl
el - 1 el - 11
gl urnall Ald
(A)  dfiz ddl () ARRMR 24 Ids12
(B)  siidlun ol (I aideud
(Q) »ioirv () s/l wied G o)evzid
(D) i (IV) diad

A2k e [sedinial i [Gsey w3ig 531
(1 (A, (B)-(IT), (O)-(I), (D)-(IV)
(2) (A1, (B)-(I11), (C)-(1V), (D)D)
(3)  (A)-D), (B)-(I), (C)-(IV), (D)-(ID)
4)  (A)-(ID), (B)-(IV), (O)-(I1I), (D)-(T)
Al:1

A2:2

A3:3

A4:4

Objective Question
1157 1157
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The best or most preferred way/ route for feeding the patient is:
(1) Intra-veinous route

(2) Tuberoute

(3) Oral route

(4) Nasal Route

Al:l
A2:2
A3:3
Ad:4

Objective Question

i Atwhich age, children show fear of unknown people ?
(1) 8-12 months
(2) 18-24 months
(3) 24-36 months
(4) 48-60 months

4.0 1.00

Al:1
A2:2
A3:3
Ad:4

Objective Question

1159 1159 4.0 |1.00

Which of the following can be described as art and science of promoting health and preventing
diseases, prolonging life, through the organized efforts /actions of society?

(1) Public Nutrition
(2) Research methods
(3) Clinical Nutrition
(4) Social Nutrition
Al:1

A2:2

A3:3

A4:4

Objective Question

1160 | 1160 4.0 |]1.00
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A disability affecting communication, social interaction and play behavior.

(1)
(2)
(3)
4)
Al:
A2:
A3:

A4 :

Objective Question
1161 [1161

All the activities in food service unit/ organization are influenced by :

(1)
2)
(3)
(4)
Al:
A2:
A3:

A4

Objective Question
1162 1162

1

4_Live_NCET_GUJ_801-1200.html

Speech disability
Locomotor disability
Cerebral palsy
Autism

Organizing
Menu Planning
Statfing
Reporting

Which of the following is known as ‘hidden hunger?

(1)
(2)
(3)
(4)
Al:
A2:
A3:

A4 :

Objective Question
1163|1163

1

PEM

Stunting

Micronutrient deficiency
Wasting

Which of the following is NOT an example of perishable foods ?

(1)
(2)
(3)
(4)

Curd
Potatoes
Fish
Meat
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Al:l
A2:2
A3:3
Ad: 4

Objective Question

1164 1164 = 4.0 1.00
Arrange the following stages of Fashion Cycle in the correct sequence:

(A) Obsolescence

(B) Peak of Popularity
(C) Introduction of a style
(D) Decline in popularity
(1) (A) (D), ©), ®B)

2) (©), (B) (D), (A)

(3) (B), (D) (A) (C)

(4) (C), (A) (D), (B)

Al:1
A2:2
A3:3
A4:4

Objective Question

11651165 4.0 1.00
Arrange the following contributions of Human Resource Management in the correct sequence :

(A) Selection and recruitment

(B) Redressal and grievances

(C) Employee training and career guidance

(D) Sustaining high performance and maximizing productivity
(1) (D) (C) (A), (B)

2)  (A) (C) (B), (D)

(3) (B), (A) (D), (C)

4) (), (B) (A), (D)

Al:1
A2:2
A3:3
Ad:4

Objective Question
1166 1166 4.0 |1.00
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Match List I and ListIL

ListI ListII
A.  Louis Pasteur I Canning
B.  Nicolas Appert II. Methods and techniques used to transform raw ingredients into
finished and semi-finished products
C. Food technology IIl. Pasteurization
D. Food processing IV. Uses and exploits knowledge of food science and food
engineering

(1) (A)-dD) (B)- (), (C) - (IV), (D) - (T)
(2)  (A)- (D), (B)- V), (C)- @), (D)- (II)
(3) (A)-dD), (B)- 1), (C)-@V), (D)- (D)
(4) (A)- ), (B)- V), (C)- (M), (D)- @)
Al:1
A2:2
A3:3

Ad:4

Objective Question

11671167 4.0 [1.00
Match List I and ListIL
ListI ListII
A.  CARA (Central Adoption Resource Authority) L NGO for abandoned child
B. SOS II. Adoption
C. NSS (National Service Scheme) III.  In conflict with law
D. JuvenileJustice Act IV. College youth

(1) (A)- D), (B)- (D), (C)- @V), (D)- dI)
2)  (A)-aV), (B)- (D), (C)- (), (D) - (III)
(3)  (A)-dI), (B)-1), (C)- (Iv), (D) - (III)
(4)  (A)-dD), (B)- (), (C) - (IV), (D)- (D)
Al:1
A2:2
A3:3

A4:4

Objective Question
1168 ||1168 4.0 1.00
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Match List I and ListIL
ListI ListI
Triadic Harmony L Black and White
Complementary Harmony II.  Red, Blue, yellow

Achromatic Harmony IV. Pink, red, maroon
(A)- 1), (B) - (), (C) - (IV), (D) - (I)

2) (A)-@V), (B)- () (C)- (1), (D)- (II)

(3) (A)-d1), (B)- (IV), (O)- (D), (D) - (@)

(4) (A)- (D), (B) - (II), (C) - (IV), (D) - (T)

A
B.
C.  Monochromatic Harmony III. Red, green
D
(1)

Objective Question

11691169 4.0 [1.00
Match List I and List IL
ListI ListII
A.  Campaign L Computer Hardware and Software
B.  Television II.  Project village Chhatera
C.  Print Media III.  Swachh Bharat Abhiyan
D. ICT IV. Audio-visual

(1) (A)- (), (B)- IV), (C)- (@), (D) - (@)
(2)  (A)-(I), (B) - (IID), (C) - (IV), (D) - ()
(3) (A)-dID), (B)- (@), (C)- @V), (D)- (D)
(4)  (A)-@V), (B)- (), (C)- (), (D)- (I)

Al:l
A2:2
A3:3
Ad:4

Objective Question

1170 | 1170 : 4.0 |]1.00
Who is mainly responsible for designing window displays, arranging store merchandise, creating

props and styling mannequins ?
(1) Fashion Designer

(2) SetDesigner

(3) Interior Designer

(4) Visual Merchandiser
Al:1
A2:2
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A3:3

Ad:4

Objective Question

1171 1171 4.0 1.00
Which act was enacted by government of India to prevent adulteration of food ?

(1) PFA1954
(2) PCA1954
(3) PAC 1954
(4) PFC 1954

Al:l
A2:2
A3:3
Ad:4

Objective Question

1172 /1172 - 4.0 1.00
The term used for consumers who are “most likely” to purchase a product offered by the sales

department

(1) Weekly market
(2) Target Market
(3) Banjara Market
(4) Thrift Market

Al:l
A2:2
A3:3
Ad:4

Objective Question

11731173 : : 40 100
Which of the following is NOT an example of chemical hazard presentin food ?

(1) Stones

(2) Toxic metals
(3) Biphenyls
(4) Pesticides
Al:1

A2:2

A3:3

A4 4

Objective Question
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Which of the following is NOT a function of housekeeping staft ?

(1)
@)
(3)
(4)
Al:1
A2:2
A3:3

Ad:4

Objective Question
1175 1175

Which of the following is a problem,/ defect that arises from faulty dyeing ?

(1)
@)
(3)
(4)
Al:1
A2:2
A3:3

Ad:4

Objective Question
1176 | 1176

Who is responsible for shifting of baggage of guests ‘in” and “out’ of the room in a hotel ?

(1)
(2)
(3)
(4)

Al:1
A2:2
A3:3
A4:4

Objective Question
1177 1177

(1)
(2)
(3)
(4)

Cleaning of public areas and guestrooms
Pestcontrol
Internal flower arrangement

Welcoming guests upon arrival

Color run/Color bleed
Tear in fabric

Fitting issues

Baggy look

Doorman
Lobby Manager
Bellboy

Bell Captain

Number of people who read the print medium in addition to actual subscribers and buyers :

Audiences
Coverage
Media Design
Pass along rate
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Al:1

A2:2

A3:3

Ad:4

Objective Question

1178 | 1178

Which is the best method of water extraction from clothes washed in washing machine ?
(1) Spinning

(2) Bottom Drain

(3) Combination of bottom drain and spinning

(4) Squeezing

Al:1

A2:2

A3:3

Ad:4

Objective Question

1179 | 1179

Which of the following skills are NOT required by early childhood care professional ?
(1) Capacity for understanding individual differences

(2) Aninterestinchildren and their development

(3) Be energetic and prepared for physical activity for long period of time

(4) Film Making

Al:1

A2:2

A3:3

Ad:4

Objective Question

1180 /1180

Which of the following organizations co-operated in implementation of RRE (Red
Express) ?

(A) FAO
(B) NYKS
(C) NACO
(D) UNICEF
(E) WHO

(1) (A) (C)and (D) only
(2)  (A) (B) and (E) only
(3) (B), (C)and (D) only
(4) (C), (D)and (E) only
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Al:l
A2:2
A3:3
Ad:4

Objective Question

11811181 4.0 [1.00
Which of the following is a diet which includes all groups of foods and meet the needs of healthy

individuals ?

(A) Standard diet

(B) Tasty diet

(C) Modified diet

(D) Normal diet

(E) Regular diet

(1)  (A), (B)and (C) only
2)  (A) (D) and (C) only
(3) (B), (D)and (E) only
(4) (A) (D) and (E) only

Al:l
A2:2
A3:3
A4 4

Objective Question

11821182 . 2 : 4.0 [1.00
Which of the following can be used to create ‘thythm’ in design ?

(A) Repetition

(B) Parallelism

(C) Radiation

(D) Focus

(E) Unity

(1) (A), (B) and (C) only
(2)  (A), (C)and (D) only
(3) (B), (D) and (E) only
(4) (B), (C)and (D) only

Al:1
A2:2
A3:3
A4 :4

Objective Question
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11831183 4.0 1.00
ECOMARK signifies :
(1) Beautiful product
(2) Fair Price

(3) Good Taste
(4) EnvironmentFriendly

Al:1
A2:2
A3:3
Ad:4

Objective Question

1184 1184 4.0 1.00
Identify the publication of the most prestigious consumer organization ‘CERC” in India.

(1) WHICH
(2) VOICE
(3) INSIGHT
(4) VOGUE

Al:l
A2:2
A3:3
Ad:4

Objective Question
1185 1185 4.0 1.00
Arrange the following grammarians in ascending order :

(A) Katyayana
(B) Panini
(C) Kaivata
(D) Patanjali
Choose the correct answer from the options given below :
(1) (A) (B), (O (D)
(2 (D), (©), (B), (A)
@) ®), (A, (D) ©
) ), (©)

(@) O (A) B), (€
Al:l
A2:2
A3:3

Ad:4

Objective Question
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1186 /1186 4.0 |1.00
Arrange the Ashramas in correct sequence :

(A) Garhastha

(B) Brahmacharya

(C) Sannyas

(D) Vanaprastha

Choose the correct answer from the options given below :
(1) (B), (D), (©), (A)

@ (B, (A) (D), ©)

(3) (B, () (A) (D)

(4) (B, (D), (A), (O

Al:l
A2:2
A3:3
A4 4

Objective Question
11871187 4.0 [11.00
The most important thing in Jainism is :
(1) Practice of Yoga
(2) Practice of Archery
(3) Practice of Non-Violence (Ahimsa)
(4) Practice of Fasting

Al:l
A2:2
A3:3
Ad:4

Objective Question
1188|1188 4.0 |1.00
The Kangra Fort was built by which dynasty ?

(1) Sen Dynasty

(2) Rastrakoota Dynasty
(3) Chalukya Dynasty
(4) Katoca Dynasty
Al:1

A2:2

A3:3

Ad:4

Objective Question

file:///D:/INCET QP/ZIP/4_Live_NCET_GUJ/4_Live_NCET_GUJ_801-1200.html 158/163



7/10/24, 7:45 PM
1189 /1189

4_Live_NCET_GUJ_801-1200.html

Which animal is related to Panchgavya ?
(1) Buffalo

(2) Goat

(3) Horse

(4) Cow

Al:1

A3:3

Ad:4

Objective Question

1190 | 1190

Match List - I with List - I1.

List - I List - I1
(A) Kanthya Iy Tha (30
(B) Talavya (I) Ka (F)
(©) Mardhanya (II) Ta (9)
(D) Dantya (IV) Dha (@)

Choose the correct answer from the options given below :
(1) (A1), (By-(II), (C)-(11I), (D)-(IV)

(2) (A0, (B)-(I), (O(IV), (D)-(1L)

(3)  (A)-m), (B)-(IV), (O)-(D), (D)-(I)

4) (A)-IV), (B)-(I), (O)-(ID, (D)-0)

Al:1

A2:2

A3:3

Ad:4

Objective Question

1191 1191

What are conveyed through abhinaya (dramatic expression) ?

(A) Rasa

(B) Bhava
(C) Natya
(D) Nrtya

Choose the correct answer from the options given below :
(1) (A) and (B) only

(2) (B) and (C) only

(3) (Q) and (D) only

(4) (©) only

Al:1
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A2:2

A3:3
Ad:4

Objective Question

1192 /1192 4.0 1.00
Which one is not a upaveda ?

(1) Ayurveda

(2) Dhanurveda

(3) Gandharvaveda
(4) Rigveda

Al:1

A3:3
Ad:4

Objective Question
1193 /1193 4.0 |1.00
Appropriate human behaviours are prescribed in :
(1) Pakasastra
(2) Dharmasastra
(3) Natyasastra
(4) Chitragastra

Al:l
A2:2
A3:3
Ad:4

Objective Question
1194|1194 4.0 1.00
‘Laghu Arhanniti’ is written in which language ?
(1) Pali
(2)  Prakrit
(3) Sanskrit
(4) Apabhransa

Al:1l
A2:2
A3:3
Ad:4
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Objective Question

1195|1195

Choose the mahesvara sulras in desecnding order :
(A) Rtk

(B) Aiouc
(C) Aiun
(D) Eong

Choose the correct answer from the options given below :

(M B, (D), A) ©
) (A) (B) (©) (D)
(3) D) (A), (B), (©
(4) ©) ©), (B) (A)
Al:1
A2:2

A3:3

A4 :4

Objective Question

1196 1196

Which Chalukya King had described methods of Culturing Fish ?

(1) Surpala

(2) Narsinhvarman
(3) Somesvardeva
(4) Nandivarman

Al:1

A2:2

A4 4

Objective Question

1197 | 1197

Match List - I with List - I1.

List - I List - IT
(A) Bharatatyam (I)  Andhra Pradesh
(B) Kathakali (II) Uttar Pradesh
(C) Kathak (IfI) Kerala
(D) Kuchipudi (IV) Tamilnadu

Choose the correct answer from the optlions given below :

(1) (A)HD, By, (©)-IL), (D)-IV)
2 (AHIV), (B)-(I), (©)-(D), (D)D)
(3)  (A)-IV), (B)-(I), (C)-(1D), (D)-(O)
(4) (A, (B)-(ID), (©)-(), (D)-AV)
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Al:1

A2:2

A3:3

Ad:4

Objective Question

1198 | 1198

Famous shore temples are located at :
(1) Kanchipuram

(2) Mamallapuram

(3) Komnark

(4) Tanjavur

Al:1

A2:2

A3:3

A4 4

Objective Question

1199|1199

Arrange the following ‘Niyamas’ in correct sequence :
(A) Santosa

(B) Isvarapranidhana

(C) Svadhyaya

(D) Tapas

Choose the correct answer from the options given below :

(1) (A) (B), (©) (D)
2 (A), (D)C), (B)
@) (©. (B) (D), (A)
#@) O ©, (A) (B)
Al:1
A2:2

A3:3

Ad: 4

Objective Question

1200 /1200

In which Valley Northern Black Polished Ware (NBPW), was first found around 700 BCE onwards ?

(1) Himalayan Valley
(2) Kavery Valley

(3) Brahmaputra Valley
(4) Ganges Valley
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Al:1

A2:2

A3:3

Ad:4
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